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OGO LI(HSL_TLD GTGIMD BV FoSSTTHMILILIGH L 6T63Tm ©O)LIw Fmey/Lh

M PESLILIGB DS QFeert 6)LipmI% B B CsT Leveud @Qupmplweld. Q)BHIcO LIMesTd
UTLHE®S, YTFI LIS, QUIDenEE FFPILD B Wealpewm BUWLDTEHE FES IS G LD Frisk

@SB WL LIenL_LILITGLD.

0.28) BmIKOIsTEmFH®WS O\FTSHSS T
A4) yRsGam

B) LGTBI(R SbS LOTDET o (LHS)

C) wormest GLimem gwimeetmi

D) Qumuienswmg

FHlwmest adlent_: A) LflasGasr

N GTHHLD:

GnIB0F TS e1aTLIZ 6T (HF0)% Mm% BIevFHalled RGEIDTGHLD, @)Fewest LyHsCar
eTGTLIGuT O\F TGS STH. (Q)BETO Fplw O\FuIwTHaTTe) 96015, G6i6)eu M LITL_gVILD
FIF 2RI FH®ETLLD QUIDHENS BleUen LD ILp&HTa OleuaflLiLi(HS5IH ml.

0.29) Bede @(LpSSmIGaner C)Fm@GLiL) 616D O)LIMTBED QT 2 6HL I BTG -----------
A) 5108 GHrenal

B) serauLf) papLIg)

C) oLy Wy

D) BwsGwair

FHlwmrer aflewr_: A) F11%5 CHreneu

TS HLD:

2 F108 Gareneu e16rp OLIwGr “Bedev @(LpSsmIsafer ClGT@LIL " eTaTLI®SS

GOIEEDF. QF 6V weslGefler Fedow BLgews, OBDl(LpedD, pssLd GLITeTpeupnenm



aearsGLd ClFUIL) TS 6T 2 aTeTeT. Q)& STILESSE H(BSHISHEGT GPLDWILDTHS O TEHwTL

QB @)evaEHwLoTELD.

0.30) pluflemev OVpe0eSE &migesf) @GBlwng — 6161 O)FTL_BI@GLD LITL_6O aufluiles

A) sewsflg Guogmaflwmg
B) eare» e wi i

C) &miflwimsmest

D) ysesGopsermi

FRlwreT aflewL_: B) GaTen e m

QTS HLD:

“Gpluflenev ClBevSS Gmiset] GPlwng” e1esig C\FTL_BIGLD LITL_6GD GRETEHGUWITH
9 UTSH@HOL_WF]. QF 6D REOTUWITH SLb LITL_6V eLpevLd Fplw QLimpL seoar
VL PWLILIRS S L1 6T O BMHLICLITHe® 6T 6T(HSSHI®ISRDTH. Q)
QUL H5HFFHLq, Osrarenn Ceupser Gumen CppILI LT 6% el 6ir
LITessilu) L_G¥T 5 GTaT).



PGTRB HISTORY

Answer Key

0Q.31)Consider the following literary works:
LereuHLd @SS LIGHL_LIL|SEH T H6u 6w 515 6iT:

1. Akbarnama / & LIFBILOT

2. Baburnama / LITLIFBILDT

3. Tuzuk-i-Jahangiri / &jow~5- Q)-29% 51 &) f]
4. Shahjahannama / a4TgYS MESTTLO T

How many of the above are autobiographies? / GoGev FnpWeupmled 615560 6T FUFHe0HH T
[A] Only one/ @&Tmy oL (HILD

[B] Only two / @)gesst(h) LoL” ()LD

[C] Only three / eLpevtmy oL (h)LD

[D] All four / BresT&HLD

[CORRECT ANSWER] [B] Only two / @)gessi(® oL ®Lb

[EXPLANATION]

Baburnama, written by Babur, and Tuzuk-i-Jahangiri, written by Jahangir, are autobiographies. Akbarnama was written by Abul Fazl,
while Shahjahannama was composed by court historians, not the emperor himself.

LITUGBALDT (LUTUG eT(pS W) LopmiLd Fiew - (@)-e05m15) ] (256180 6T(LpSHWGI) 2 FNIGH6 FWIFHEHSHGT. (% LITHTLDT
9ILIGY LIGDG TGV GT(LPSLILIL L &I, QTEYHTGTTLOT LOGTGTITG) 96DV, 9 JGSTLOGHGT & T6V DM TF i 5 ermed
GTUPSLILIL L _Z).

Q.32) In the context of medieval Indian history, which among the following events happened before the establishment of the Delhi
Sultanate?

WG F16v Q)BEF W 6ugeTHBIGT @ Lpedled, O)_e0ed HeOFTeTHLd BIMIaILiLIBHUSD S (LPGHTGTH BL_bS BIHLH® 6157
[A] First Mongol invasion of India / @B&w T LBG] (Lpsev Lomi G med LiewL_ Qui@GLiLy

[B] Invasion of India by Timur / @epd @) BSwT 158 Lien L Guwi @B LiLy

[C] Establishment of the first mosque in India / @)BSwmailed (LpS6d LiaTaNeTFD [BlMIe1 6D

[D] Marco Polo’s arrival in South India / G\geies | p S wmeys@ oriGsm CLnGeraler aupens

[CORRECT ANSWER] [C] Establishment of the first mosque in India / (@) BSWTaied (LpSe® LIGTaN e TF) [5]MI616D
[EXPLANATION]

The first mosque in India, the Cheraman Juma Mosque in Kerala, was built in the 7th century CE, long before the Delhi Sultanate (1206
CE). The other events happened after its establishment.

@ BFwTaiesT (LpFed LiaTaneurFed (CFgLomest g o LieTeneurgey, GHgert) &).19 7.9yLb BIHOTESTIY 6O SL L LILIL L F).
@31 O a6l GevgTaraLd (1206) 2 (heuT&HeUSH G LIV BIDDTesT(HS @%@ (LeTGL BLBSEI; LOPD B& L6y SaT LieTesy
bL_[bS 6ol

0.33) Nimatnama, believed to be completed during the reign of Nasir al-Din Shah, is .
BET- 2 60- ST apT YL F% FTVSH 60 TUPSLILIL L G 61T &(5SLILIBLD BILOSBTLOT
[A] A translation of the Holy Bible in Urdu / o LiL96T 255 GomyfO Liwifiisy

[B] A cookbook and manual on the art of cookery / FEOLOWGD LOPMILD FEHLOWIGD FE6V &GS BTGV

[C] The constitution of Sur Empire / @ FTLOITEW Y THWeEHLOLIL]
[D] A book on strategy, tactics, and leadership / W$&% S L 1D, $HSBILD LOPMILD Fe®even Loufwied LipmBlus fed

[CORRECT ANSWER] [B] A cookbook and manual on the art of cookery / FeoL0WeO LOPMILD FHLOWGD eV &DSS BTV



[EXPLANATION]

The Nimatnama (Book of Delights) is a unique medieval manuscript from Malwa, describing recipes, cooking techniques, and delicacies
under Sultan Ghiyath Shah and Nasir Shah.

BILDSBTLOT ((Q)GSrLIEIS e BTe) 6TavTLIG) LoTeveu TaileT b (H Blenevd FTews F 0w (PSSl @)F6d Fwing oy oHmILd HFF
QT ), L FUf 6O FEHLOWGD (LPGHDFHET, 2GR CUGHEHBET LOMD MILD F6W 6 W TGS FeOLOW VST ai6u flBHLILIL" (hGTaTesT.

Q.34) In the context of the revenue administration of the Delhi Sultanate, which among the following statements is not correct?

0060 FHeOS TeTHSH BT 6u(HeU ML BlHeUTHSEB T & LpadleD, LIeiTeu(HLd 2 1seEHsafled 615 FalnTed)?

[A] Khalisa was the land revenue exclusively for the Sultan / $&SFT Bleveu(heumul He0STensC% o fwig)

[B] The igta was a non-transferable revenue assignment / Q&SI LDABD (LPLYUWITE @ (HeI TUT 65155 (b)

[C] The kharaj was essentially a share in the produce, not land rent / $71g) Blev ITL_a0% eOev, LIWINT LIBISTS () (BBSSI

[D] During Muhammad bin Tughlaq’s reign, Diwan-i-Kohi was created for agriculture / (Lp&Log) L9657 1% e1% 241" Flulled aileusmw
UTIEFSH 1% Haunes-()-Camman) o (KheurssLiuL’ L g

[CORRECT ANSWER] [B] The iqta was a non-transferable revenue assignment / @& T LOTDD (LPLY-UITS 61 (HeUTUI 5% (B
[EXPLANATION]

The iqta system was transferable, as assignments could be shifted or revoked by the Sultan. The other statements about Khalisa, Kharaj,
and Diwan-i-Kohi are historically correct.

Q@SS (LD LOADHD ST 19 W FOST6T ail(BLOLIeTTed 9yeng Loap Cour ggg QFuiwGeur wpLyuwLd. He)am, HImed
wpniLd euner-Q)-Gsman) upplw wpp S5aie0%aT FilwmeTeneas Gu.

Q.35) The ‘tulughma’ and the ‘araba’, introduced by Babur in India, were:

urug @pHwreded YBLpSLILGSI W ‘FIISLOT OPWILD ‘DT GTRTLIGNG 6T ?

[A] New systems of tax administration / S w euif) Blieunds (Lpeomeir

[B] Cultural festivals promoted by the Mughals / (Lp&e IS aTTe) 2018 @ alS&LILIL L He0TFFTT H(HILpTSHSaT

[C] Advanced agricultural techniques / GotdLiL" L @feudFmuws (LpewnEaT

[D] War tactics used during the First Battle of Panipat / (Lpged LimesfliL” Guimfled LwetL®SS w GLimispb®) ami%er

[CORRECT ANSWERY] [D] War tactics used during the First Battle of Panipat / (lp&e0 LimesfliL” Guimfled LiwuesTL (BgSw
GCunis k@ ImISaT

[EXPLANATION]

Tulughma was a military strategy of dividing the army into smaller units, while Araba referred to carts used to mount cannons. Both were
used by Babur at the First Battle of Panipat (1526).

SINIGLOT TRTLIG| LiewL_eww my L9feysernsii L955@w Curisp® I, < Tum 61T LITEIF%He® 6T ealsHL
LWGTU (RSB W UEsTLY F6T. (Q)eweu LITLIT 152660 BL_BS (LpFed Limesli Gumfled LwesTL(h)S S wenael.

0.36) Which one of the following sequences indicates the correct chronological order of the Vijayanagara Empire?
aflgwpsgLl Cuagfer sflwnest smewelflens auflenFeniw LleTeuHLd auflenssalled 615 &HDEFDIHI?
[A] Sangama dynasty — Tuluva dynasty — Saluva dynasty / FBISLD GULDFLD — & @6 QULOFLD — FITGY|6U GULDFLD
[B] Tuluva dynasty — Sangama dynasty — Saluva dynasty / &]@h& QULDFLD — FBISLD QULDFLD — FTGYI 6 GULDFLD
[C] Sangama dynasty — Saluva dynasty — Tuluva dynasty / FBISLD QULDFLD — FTGYI6U GULDFLD — & @6 QULOFLD
[D] Saluva dynasty — Tuluva dynasty — Sangama dynasty / FTI6 GULDFLD — & @h6U QULDFLD — FBIFHLD GULDFLD

[CORRECT ANSWER] [C] Sangama dynasty — Saluva dynasty — Tuluva dynasty / FBISLD QULDFLD — FITGY|6U GULDFLD — & @hH6U
QULDFLD

[EXPLANATION]

The Vijayanagara Empire was first ruled by the Sangama dynasty, followed by the Saluva, and later by the Tuluva dynasty, under which
Krishna Deva Raya emerged as the greatest ruler.



NQWBST FTLOITDUWISHEDS (LPSEOIGD FBISLD QULDFLD Y,eSTL_GI; LGS FTSVIQUT ULDFLPLD ST LIGOT &I @ euT
ULDF(LPLD L' &F) CFUIF 6. G @beuT ULHFSF 6 &) (hayenTCHeugmwi FppS LOGITITS o) aiTsI %) Gy,

0Q.37) Which of the following works was not written during the reign of Imperial Cholas?

SLpgsewTL LieoL_LiLsened 618 Caripd CLITH et 9L §8 &mevgFed 61(LpSLiLIL_aledenev?
[A] Ramavatharam by Kamban / S1OLIT 6T(LpBWI () TTLOTGUS TTLD

[B] Kulothunga Solan Ula by Ottakuttan / 1" 18553 61(LpBwl & Cavngg)mis CFTLpeT 2 cum
[C] Seevaka Chintamani by Thirutakkatevar / B %3555 Cgeur e1(LpSwl Fars F B Lo ewst]

[D] Manucharita by Allasani Peddana / Sjevev&est] GlLiggestetm e1(Lp Bt Lo FASLD

[CORRECT ANSWER] [D] Manucharita by Allasani Peddana / Sjevev&mest] GLig S estetm e1(Lp B wi Log9y F A LD

[EXPLANATION]

Manucharita was a Telugu literary work composed under the Vijayanagara ruler Krishnadevaraya, not during the Chola period. The other
three belong to the Chola era.

eI FAFLD 6TGTLIZG @@ BHT oGS TG &) (K ekewCH eI TS0 eevFrest] ClLgs et er(LpBw O)F eI
@eaGwLl uenL_LiL. wpp epetnid CFTHT HTVSFSTLIL L cwal.

0.38) Consider the following statements:

L6816 (B LD 9 M)F 0 FE e AT &6v 68f L) B1% GT:

1. The Tomb of Itimad-ud-Daulah, called “Baby Taj,” has the largest dome among Mughal monuments. / "GLiLY $12d" eTe8TMY
Y®LPESLILIGLD QBIDTF-2 F-0F6TeVT FOeWenND, (LPEXTW BlenaTadFRearamigsealc LOSLIGLRW Gl _samss
O\& messT (B OTOTS).

2. The Bibi-Ka-Magbara, the “Taj of the Deccan,” was built by Jahangir in memory of his wife. / “L_&%mesfleer Smed”
eTTLiLI(BLD LIS ST LS LI, @&BIGT H681G LDeOTaNSHTH HL L LILIL L ).

Which of the statements given above is/are correct? / GLoGev 2_aiTar 9MFenFHHale 6T5)/6Ten e Fiflui TeTg)?

[A] 1 only /1 tol" @b

[B] 2 only /2 tol" b

[C] Both 1 and 2/ 1 opmytd 2 @) gesst(p)LD

[D] Neither I nor 2/ 1 9j606v&| 2 @6V

[CORRECT ANSWER] [D] Neither I nor 2/ 1 9j60evg| 2 @6V

JEXPLANATION]

The Tomb of Itimad-ud-Daulah is small and not famous for a large dome. Bibi-Ka-Magbara was built by Aurangzeb’s son Azam Shah in
memory of Aurangzeb’s wife, not by Jahangir.

@B o132 -6lgerevTaleT sevwenn HPwg),; B Clufw Gallwed @)evemev. LTI &1 LO&LITT, 9FBEIBT 9 eV6v,
ROTIBISHFLILINGIT LDSHGST YFTLD @pT, S6T FTUINGT BleO T 155 HL 19 W)

0.39) With reference to the Golden Temple (Sri Harmandir Sahib) at Amritsar, which one of the following statements is not correct?

YLl TFFTedle 2_aTar %S5 CHralled (aniwpGi FranlLl) Gmnlsg Lo HealaTeupmled 615 $eumTesTd)?

[A] The Harmandir Sahib was built by Guru Arjan Sahib, the fifth Sikh Guru, in marble and copper overlaid with gold foil. e FLoB S J
FTalLl, @BETeI% FSENWI & IHeUT6T &5 TR FTAILT Y auiserTed LIaNB@&s Sevedlayd, O)Fbfeyd s L it @),
Lestesti 5155 $&BGarmed Carwii’ L g.

[B] Guru Arjan designed it with entrances on all four sides, signifying openness to all castes and creeds. &5 | F2GT @I FSHaT
WS G FTHUNGT (5% SLD, LDFSD T (H%GLD DD BS LOGTLILITGTED DU LT (Q)(HLILINSS $HM)5GHLD auenauiled, Q)55
QYOS S BTG FeFHafeVILD [BI6DLpeuTueOSET O)%TERTL_ e TN LY CUGH LDSS T

[C] Its architecture blends Muslim and Hindu styles prevalent during that time.



QBT HL 191 GFHmev, HYSHTWFEF60 Blovallw LpeveSLd oPmiLd ()BSI LITessse 6 &6ven el s 2 aTeng).
[D] Maharaja Ranjit Singh reconstructed the temple in the 19th century after Afghan invasions. LOQDTITET FEHFF Fsl 9 FS% 6T,
g Lisresiluls e Qu®LULSe5s@GL L9D@, 19340 BIDDIesTIY e QBSsS Camullency LgLISF) LjeTTen oSS M.

JCORRECT ANSWER] [A] The Harmandir Sahib was built by Guru Arjan Sahib, the fifth Sikh Guru, in marble and copper overlaid with
gold foil.

JEXPLANATION]

Guru Arjan originally built the Harmandir Sahib in 1589, but the gold overlay was added much later by Maharaja Ranjit Singh. Thus,
Statement A is incorrect.

&5 ST 158960 @ FLoBS T FTAUILT &L 19 GSIITH; YGSTT6O GB1% SGBIGTILD LOD TITT JEHHS Fmi Nevrenry OFuismy.
617G A &6UM TGS

0.40) Consider the following historical figures:
L9eTeuBLd UFADM BLITH®TL LINFSFSaLD:

I Guru Nanak / & (5B 16515

2. Krishnadevaraya / &) (o es51 G% 6u g
3. Mira Bai / LSgmumui

4. Vasco da Gama / aume® G T L &mLOT

How many of the above were contemporaries of Babur? / GLoGev 2_aTemeujsefled 618Gt GLig LImLIFeT FLOFTeVS B eot?
[A] Only one / g(meuy oL (HILD

[B] Only two / @)Baug oL"(HLD

[C] Only three / eLpeu i LoL" (HILD

[D] All four / 606 (HLd

[CORRECT ANSWER] [C] Only three / eLp@ug LoL" ()LD

[EXPLANATION]

Babur (1483—1530) was contemporary to Krishnadevaraya (1471-1529), Mira Bai (1498—1547), and Guru Nanak (1469-1539). Vasco da
Gama died in 1524, before Babur’s conquest.

L (1483-1530) s1evg%ed & payenwtCseugmuwid, Somumul, &mprestd 4% Guwrg eurppsers. euradGHm L SaLom
152460 @QmBSS 160 LITLIRGT L FEHT0SSH DS (PTG Q)M BSTH.

Q.41) With reference to the religious history of India, consider the following pairs:

@ BF w6 g eugewTHenmLl QLTSS aiens, L6 (56U oD DS %61 68| B1% 6iT:

Sufi Order — Region of Influence / @o%L9 auflens — GlFedauns @ LAss% LGS

Suhrawardi — Sindh / &aip 7160 I% — FBSI

1. Chishti — Delhi and Western U.P. / @ay% — 0L_aved opmitd Comp@ 2 5Lt 195CseLH
2. Firdausi — Bihar / o%1950)&e18) — fammi

How many of the above pairs are correctly matched? / GoGev 2_aitar (@) eoenigaflcd 6185w et FHlwirs O)LIm(H bS5 %) 65Tm 65r?
[A] Only one/ @&Tmy oL (HILD

[B] Only two / @) et (h) LoL” ()LD

[C] All three / eLpe¥TmyLd

[D] None / 618D (@)a)emev

[CORRECT ANSWER] [B] Only two / @) gessi() toL” BLb

[EXPLANATION]

Suhrawardi order was active in Multan (Punjab region), not Sindh. The Chishti order in Delhi/UP and Firdausi order in Bihar are
correctly matched.

Fabreai® auflens g alled 9ede, (LhSTaled (LIGHFTL LIGS) Clewedu L g). OL_aad)/2.. 9. ulled 2 aTer FapLg
uflenguLd Lismhlew 2 airer o> 9F0SmH euflensud FflwrsLs O)LImBbSIF 6D 6.



0.42) With reference to the history of medieval India, Kesu, Basawan and Daswant were famous

@L_ssmev QBFwradar augewrPenpL QLTnIgseaieos, Cask, LIFaIGT LOPYILD FedaUbS Uy,@@u_uw
L9 TLIGV LD TEST6U [T 5 GIT

[A] Painters in the Mughal Court/ (Lp&Hev M 9 gessTLoen Tull e g @il jis e

[B] Governors of parganas / LIF%TGSTT5% 61| GT 9y, @5 65 6T

[C] Temple architects / GHmalled HL 1915 FHe6v@6hHI% 6T

[D] Philosophers / %3] a@hrest|saT

[CORRECT ANSWERY] [A] Painters in the Mughal Court / (Lp&e T [ < FeSTLO 6 GSTUN BT G @I 7% 6T

[EXPLANATION]

Kesu, Basawan, and Daswant were renowned painters in Akbar’s court, contributing to the Mughal miniature art tradition. / G,
LIFTeUG, Sabvaups FCw i <% ufer o gessearuiled 4sHOLDD @alluiserts Q) bpal, pesewmui PP @alws
sewavenitl GLoLdLI(h S B 6Ty,

0.43) The Buland Darwaza was built to

LIV S STUTFT SUL LI L G

[A] Mark the coronation of Aurangzeb / gargmi& &L LIL L m9Capsse0s BlenasTeydn T

[B] Honor Shah Jahan's victory in the Deccan / o208 16sf)a81 B8 mewst Gleupmleow GLimmm

[C] Commemorate Babur’s victory in the Battle of Panipat / Limesfli” Guimfled Limuifler Gleupmleow Beoestaydn
[D] Commemorate Akbar’s conquest of Gujarat / &% LINGT &g OeupPlenww 1569656 dnm

[CORRECT ANSWER] [D] Commemorate Akbar’s conquest of Gujarat / & L1flesT &e20ms GleupBleow e ereydnmn
[EXPLANATION]

Akbar built the Buland Darwaza at Fatehpur Sikri in 1575 to celebrate his victory over Gujarat. It is one of the largest gateways in India. /
QST G018 Cleupplenw Blenesteydng 157560 L{eVES SHeUTem L 1garTh. @)&1 Q) BFwraler %16 Lifw

BIew el TuieOSafled T M@ LD.

Q.44) Which one of the following statements regarding Saint Ravidas is not correct?

& TilsTed &MS Lo healeTalnPled 618 &6umTesTd)?

[A] He criticized caste-based discrimination in Indian society. / FT@uled 2y1gLiL1ewL_ulevreT LTGUTL el @)BHW FoLpHsFed
9jauj N iFSS T,

[B] Mira Bai was one of his disciples. / LEgm Limul 9eugg) FL_jFHefled emeus.

[C] About 40 poems of Ravidas are in the Adi Granth of Sikhism. / 7&9% mef&st &LomF 40 SilenssH6T FEFW 0SS B 6T 4,5
FIBSSF 6O 2 GTGTGHT.

[D] He was among the Navratnas in Akbar’s court. / 9jaui &L gFeanaiuiled @)(55S HalTsS S 6o BI%HaN6ed 6(haUTTH
Qs

[CORRECT ANSWER] [D] He was among the Navratnas in Akbar’s court / 9jau (% LiIfl6T 9 JessTLo 6 GTUNGD [561 TS B 68T/mI% 6Vl 6D
RBIITS Q) (BHSMT

JEXPLANATION]

Ravidas was a Bhakti saint and social reformer, but he never served in Akbar’s court. Statements about his criticism of caste, discipleship of
Mirabai, and his poems in Adi Granth are correct. / geilgmed LGS FMbG LOPMILD FeLpsk FTF(BSSHTH); YGTT 96

915 LIfIGST 9 JGRTLO GO GYT (b TS B esTBIF 6Tl 60 @) evewev. FTH LITGUTL L @i FSSSIL0, LBgTLmL EL_g1s Q)(HBSHILD,
BB TEF 6O LITL_c0F6T @)L_LOCLIPDEILD 2 6556w LD.

0.45) Consider the following pairs:



LeTeu (LD ()60 enTSHEm & 561 68l 515 6T
Medieval Indian City — Built by / @)e®L_8&%me0 @)BSHW BHILD — &L 19 W T

1 Siri — Alauddin Khilji / @) — 9jevmey S et He0gd)
2. Jahanpanah — Muhammad bin Tughlaq / @& &TLIGSIT— (LpFHLoG| LIGST 5% 615
3. Shergarh — Sher Shah Suri / Goyg &mi— Coayud oy & if

How many of the above pairs are correctly matched? / GoGev 2_aTer (Q)enewraailed 618%emest Fflwims O)LIT(H b35S GSIn 6or?
[A] Only one/ gavtmy LoL” (RILD

[B] Only two / @)gesst(®) oL (HLD

[C] All three / eLpe@TmyLd

[D] None / 6181 @)e0emev

[CORRECT ANSWER] [C] All three / eLpSTMILD

[EXPLANATION]

All three pairs are historically accurate: Alauddin built Siri, Muhammad bin Tughlaq founded Jahanpanah, and Sher Shah Suri built
Shergarh.

eLPGTN) @)enaewstas@pLD FiflwiTesTanau: e TeySar Hlevgd Ff) B&HILD, (LpHLoG) LT Fises @amaTLIesT, Cayd aym @ F Capd
ST pHIS0S BlM| I GTTH.

0.46) With reference to the administrative history of medieval India, consider the following statements:

Q@L_ssmew Q) BFwWTdGT Blieuns eugewrpenpL OLITnDISSeuen T, LIGTeU(HLD JoDDIS6H TS %6 6l 515 6T:

1. Balban formed the Turkan-i Chihalgani, a group of forty Turkish slave officers, to consolidate his sultanate / 6% FEOSH TSI
WUQILILIRSS LITOLIGHT, 40 FI(ESBW 136010 B S THH®6Ts O\H MWL ‘115 M6wT-(Q)-Famcd s mef) & (Lpeneu

S NLDG G T

2. Mugaddams were the most scholarly and esteemed section of Muslim society / (LpHSSLOFGT (LpaDGOILD FeLpFHSH T LO)H e LD
WUTIBS LOPDILD LPLILLOSS LFeuns () (HHSeTH.

3. Imams were appointed in nearly every town to resolve civil disputes according to Shariat law / aufuig #1119 Failed
rd@enersener $iss, FL L FaL 1L @aibleuny psAad @ ombser BlwdEsLiu’ L e

How many of the above statements are correct? / GLoGev 2_6TaT FoHMIFH NGV 6T5% 66T FINI TGTF)?

[A] Only one/ @&Tmy oL (HILD

[B] Only two / @)gesst(h) LoL” ()LD

[C] All three / eLp&STmILD

[D] None / 6181 (@)aemev

[CORRECT ANSWER] [A] Only one/ @&imj LoL" (HLD

[EXPLANATION]

The Turkan-i Chihalgani was created by Iltutmish, not Balban. Mugqaddams were village headmen, not scholars. Only the third statement is
correct as Imams were indeed appointed to guide society in line with Shariat.

BITHTEHT- () FlanewsTest] (Q)0GISHLEaH T 2 (HeUTHHLILIL L G LIGOLIGT J6V6V. (LpHSHFLDFGT LIGKHTL)SIHaT 606,
FITLDS SV FHET. CLPGTD TG FopmI DL (RO FRW eSS, @)omdsaT apflwg FL L _LILIG FAPSHeDSHS% 9 W TaT
BlwbEsLi 1oy,

Q.47) The Battle of Chausa was a notable military engagement between .

Ogeram Guimg 3D Qe ulled FL_BS s GPILILNL_5555 @) rremiaili GLmgm@Lb.
[A] Aurangzeb and Shah Shuja / @OTIEISFLI LDPHMILD QT OF° 2T

[B] Humayun and Sher Shah Suri / @ oMyt opmitd Gy apm &5

[C] Jahangir and Amar Singh I of Mewar / @2am w185 LopmiLd GLoeumHesr 9jLog Fmi |

[D] Babur and Rana Sanga / LITLIG LDDWILD TTGSSTT F5idh

[CORRECT ANSWER] [B] Humayun and Sher Shah Suri / @0 Lomest Lopmitd Gaps T &



[EXPLANATION]

The Battle of Chausa (1539) was fought between Humayun and Sher Shah Suri, where Humayun was defeated, leading to the rise of the Sur
Empire.

Ozaram Gumg (1539) e omyyet wpmid Capd apr &M @ewr_Guw penL_OLBpS). @)F6d QLo M6
Carevailwen L BSSM60 @ J FILOTTRWLD 2 (16U TCTS).

0.48) Consider the following famous Indian temples:
esraupLd s pClLpD @BFws CHraiedsenarLl % eues)u)sisar:

1. Hazara Rama temple / ap@ g gaiog G%mailed
2. Vitthaladeva temple / 2935w Ggeui G%mailed
3. Chennakeshava temple / Q\gaie1GsFaui GEmaied

How many of the above were built by Vijayanagara rulers? / GLoGev 2_aTameummled 61556068 @i 55T L S TOTHS aTTe)
SLL LI L g)?

[A] Only one/ gavrmy LoL" (B)LD

[B] Only two / @)gessr(p) LoL” ()LD

[C] All three / eLpe@TmyLd

[D] None / 611D @)c0e»6v

[CORRECT ANSWER] [B] Only two / @uesst(®) oL (HLD

[EXPLANATION]

Hazara Rama and Vitthaladeva temples were constructed by Vijayanagara rulers. The Chennakeshava temple was built earlier by the
Hoysalas at Belur.

anamgm grom pmiLd apsevCsald Csmalledser alew psIisarTed L L Lt L_ael. OFararCssar Gsmaled
Qanmuisreviserted (ClLaTRe)) peTCL &L L it g

0.49) Consider the following:
Lesteu(peuesTeupenmLl LiflFeSlumiseir:

1. Damask rose / L_omevd Ggmgom
2. Pietra-dura / 19w gm-Bgm
3. Portrait coins / 2 (e LILIL [5TGRTILIEIS% 6T

How many of the above items/features were first introduced by the Mughal emperors in India? / GoGev 2_eTaTeunBled 615% 606t
PSST(LpF 6D (LpSHevIsHarTed @)BFWTaled Ml(LpsLILIBHSSLILIL L %)?

[A] Only one / gavtmy LoL” (RLD

[B] Only two / @)gesst(®) LoL" (HLD

[C] All three / C_IJDGE'TQ_ILB

[D] None / 6181 (@)e0emev

[CORRECT ANSWER] [B] Only two / @uesst(p) oL (HLD

[EXPLANATION]

Pietra-dura (floral inlay art) and portrait coins were Mughal innovations, especially under Jahangir and Shah Jahan. Damask rose was
introduced earlier through Arab traders, not by Mughals. / LWL gn-BIm $606v LoPMILD 2 (H& BTG B1% 6T (LPFH6V [ & GTT6)
AP LpSLILERSSLILL L el LTioebs Camgym oL euessiisisarted @)BSwmain @ bS5

0.50) The emergence of independent kingdoms in the Deccan, namely Ahmednagar, Bijapur and Golkonda, was a result of the
disintegration of which kingdom?

BSHTETSB0 YHL0S BT, LNe9mLiLyd, Camed0smenrm &S w Fwrl' § @) FrEFwmI%Ser o (56uTesIg 6ThS
@)1 WwS BT Fen g ailestTe?



[A] Vijayanagara Kingdom / @9lggwip& g FTLDOImgdwiLd
[B] Bahmani Kingdom / Li@ipLoesf) @) mm&E&uwiLh

[C] Maratha Kingdom / LogmL" 19 wi FTLOFISIW LD

[D] Pallava Kingdom / LI)@v&u FTLOFT@IWILD

[CORRECT ANSWER] [B] Bahmani Kingdom / Lig Loesf) (@) gmd@wiLd

JEXPLANATION]

After the decline of the Bahmani Sultanate in the late 15th century, it split into five Deccan Sultanates: Ahmednagar, Bijapur, Golconda,
Bidar, and Berar. / 15 9,1b w0 messig &1 @)miBulled Limiblesf) aedgnersid Fensps L6, 9505 b50, LemLiLd,
CarevGla e, L9, QLT LW 5 S55TERT HeVSTGSI% BISGT 2 (156U TTS).

0.51) Consider the following statements:
L9686 (B LD Fn D MIFHe AT LiflFe5l 515 6iT:

1. Raziya Sultana was the granddaughter of Qutbuddin Aibak. / TRWT HEOSTGTT &S LSS @0LI% 2o T er eT
GugLilferener.
2. Raziya Sultana is the first known female Muslim ruler of South Asia. / G)F &1 P W TN (LpF6D ) LIGHT (Lp e @S LD

L Quimergns HPwLiLL L b FEWT FEOSTGTIT.

3. Rudrama Devi of the Kakatiya dynasty and Raziya Sultana maintained diplomatic relations. / $1&%% W QULDFSF 6T (S TLOT
Gz all LopmILd FRWT FOSTGTT FISTH 2 D6 SEGT LIFTLOFS ST

Which one is correct? 618 Fiflwimeord?

[A] Only one / g@&Im) LoL" (HILD

[B] Only two / @)gesst(h) LoL” ()LD

[C] All three / eLpe@TmyLd

[D] None / 6181 (@)a)emev

[CORRECT ANSWER] [A] Only one / @6751@1 oL (b

[EXPLANATION]

Raziya was the daughter of lltutmish, not the granddaughter of Qutbuddin Aibak. She is indeed recognized as the first female Muslim ruler
of South Asia. There is no historical record of diplomatic relations between her and Rudrama Devi. Hence, only statement 2 is correct./
JRWT FHEOSTGIT (Q)605I5 L0 afletT Lo&6T; G L|SG e @usHer CuLitfearenar eev. yald CFer o Fwraier Lpse
Q6w (LpavedlLd L Awimergns yPlwLiLiGFmrd. y,erred, (hGawm CsalluL e FTF5I% 2 Dey DS H (hBSS TS
FIGTNIH6T @ eVewev. % Gau, Fapm 2 oL (BHILD FHUWITCHS).

0.52) Consider the following pairs:
LeteupLd @)enenrsenar LiflEedlumisar:
Medieval Indian dynasty — Present region/ @e®L_s&me0 @Q)BpH W aubFLd — $pCLmenSWw L1GS

1 Vaghela dynasty : Tamil Nadu / e1G&evm auLdFLD : SLOLPBT(H
2. Gahadavala dynasty : Karnataka / $@0&S@ITGVT QULDFLD : HHFBTL_HT
3. Solanki dynasty : Gujarat / GFTevEI%) QULDFLD : (HEQTTSH

Which one is correct? / 618 Fflwimesis|?
[A] Only one / g&¥tmy LoL" (HILD

[B] Only two / @)gessr(p) LoL” ()LD

[C] All three / eLpe@TmyLd

[D] None / 611D @)e0e»6v

[CORRECT ANSWER] [A] Only one / gpa&¥Tmy LoL" ()LD

[EXPLANATION]

The Vaghela dynasty ruled in Gujarat, not Tamil Nadu. The Gahadavalas ruled in the Gangetic plains (mainly present-day Uttar Pradesh),
not Karnataka. The Solankis indeed ruled Gujarat. So, only pair 3 is correct./ auG&evIT aULOFLD H@TTSH 0 L F OFuisg),



SLOPBHTL 196D SO. QDS TV TSH6T HBIenS FLoGleualuled (@) atenpw 2 G511 LITCFFLD) 3L F ClFuigerd,
IBTLSTalled Syevev. CFTevmIFS6T &@ITEHw 9L & Clauigetd. 9%Ca, epeinreug Q)enest oL (HLd Fiflw mers).

0.53) Who among the following rulers of medieval Gujarat surrendered Daman to the Portuguese?
QwL_sETV $HEITH IFiFHeNed Wy Lmoenest CUTIERSFIS @5 @ RLILIGHL_FSHTH?

[A] Sultan of Malwa / LDTGO@UT F6GOS TGET

[B] Sultan of Bijapur / 1589mLILLT F60% et

[C] Muhammad Shah / (Lp& LD &yT

[D] Shah of Gujarat / &g713 %) 68T e

[CORRECT ANSWERY] [D] Shah of Gujarat / %g 715 F 6T axIT

[EXPLANATION]

The Portuguese acquired Daman in 1559 from the Sultan of Gujarat during the reign of Shah. This was part of their wider expansion along
the western coast after Goa, Diu, and Bassein.

/BunidsGFisaer 1559- Qa0 G@ITEB T apmailer 9y, HasrevgHed Lmoemaer Glupmers. @& Casmeut, eoL_uj, Lieder
B weuPpmsGL L9D@& Cop@Gs $L_pEHeT ailfleuTsssF 6 6(h LG SWTEGLD.

0.54) Who among these medieval Indian rulers composed the Telugu masterpiece "Amuktamalyada"?
Q@Lssmew QBHW L Pwrerisefled wirg "y LpSSLOIOWST" 61eid LHHOILPD CFavimIG LienL_LienL
Q@ umpplestmi?
[A] Krishnadeva Raya / &) 5oy ewrGseugmuwi i
[B] Amoghavarsha I/ 9 GLonseigeyt ]
[C] Mihira Bhoja / 18)eilg Grimegm
[D] Maharana Pratap / LD& T[T TGESTIT 1_9755 mL

[CORRECT ANSWER] [A] Krishnadeva Raya / &) (5 ayewrCseugmui

[EXPLANATION]

Krishnadeva Raya of the Vijayanagara Empire composed Amuktamalyada in Telugu, which explores religious devotion, politics, and good
governance. It stands as a classic of Telugu literature./ @@w pSIL CLITIF T &) (5 eyewtCH e Fmw T 9 (LpSHFLOTGOWST TG0 LD
OsamiG srafllugemns QuppleTrd. Q)& oS LIGS), HYTPWeD LOHMILD FOGTLH LIDHBIW &(5F5HI55%6 6T
QeualLiLB® 5B DS COFNIEIG QSR WEH T APES LG LiLITs HBSLILGF DS

Q.55) With reference to the history of Sufism in India, consider the following statements:
@B WIS Fo%oL LogLieT eugvTPenD %(hSF 6 OlHTewT(H LI (HLD Fo B DIFE AT LIFIFON U BIFHGIT:

1. Sufism originated and developed in the Indian subcontinent.
@290 Q) BF W gieventssaniL_sPHe Cprain auaridd ClLpmg.
2. The Nagshbandiya order was introduced in India after Babur’s invasion.

umuflesr e QB LiLys @ Ll L6 pgLBSwT gL @) BSHWTaNed W) (LpHLOTCEIS).
Which one is correct? / 618 Fflwimesis|?

[A] 1 only /1 oL" QLD

[B] 2 only /2 oL QLD

[C] Both 1 and 2/ 1 .opmiLh 2 @) messt(h)LD

[D] Neither I nor 2/ 1 9j606v&| 2 {606V

[CORRECT ANSWER] [B] 2 only /2 oL" ()LD

[EXPLANATION]

Sufism originated in West Asia (not in India) and spread to the subcontinent with Islamic expansion. The Nagshbandiya order was
introduced after Babur’s invasion in the 16th century./ @osL9410 GLomasrHwraied Cxrardlwg; @BIHwralled 9jedev. ,6TTed



@everdlw LIgeueyL 68T g @Q)BSWT eubsg. Lmfler LenL 0w ®LiLS@L N6 16 94LD BHIDD TERTLY6O bk LIl S WIT
L] QBTN 9B)(LpSHLDTESIZ).

Q.56) With reference to agrarian reforms of medieval India, consider the following statements:

BBHSSI%5TV Q) BFwrailer Geuarrest 78 HSSmISeaTL LIBHILI LG (HLD FndDIFHeGT LifFe0lL)BIH6iT:

1. Loans were advanced to farmers by the state. / @eu&Fmuils @5 @ T &L_T e LpEI FHWIG.

2. Farmers were permitted to secure loans to repay debis. / @euaFmullF 6T LIGH LpW HL_e0 68T W55 LIS FHL_aT GlLim
QLD BHFHLILIL LGS

3. Alauddin Khalji increased revenue collection by appointing intermediaries. / 9{evmey ST He0 @l ()W LS5 T5[1%He a1
BwilEg aifl au@gGenev 955 Ms5 M.

Which one is correct? / 615 Flwmesis|?

[A] Only one / g@&Im) LoL" (HILD

[B] Only two / @)gessr(h) LoL” ()LD

[C] All three / eLpe@TmyLd

[D] None / 61gjaJLb (@)a)emev

[CORRECT ANSWER] [A] Only one / gami tor” ®Lb

[EXPLANATION]

Alauddin Khalji introduced strict agrarian reforms—he abolished intermediaries and collected revenue directly from peasants. There is no
record of loans being provided or allowed for debt repayment. Thus, all are wrong except statement 3, which is also wrongly worded (he
reduced intermediaries). Correct count = only one partially./ 9 Tey &1 S0l & B ewLow Tt GouaTTesst FI%) (5o b1%Hem 6T
DN(LPSLILIRS DT — Q)ewL_SST50%Hear 55 Crrigwns afleusmuisef 0 pBs aull @SS TH. %L_6vT
QUPEBISLILIL L ST5% D6V HL 6T D&% LG HL_68T HYQILDPSSHLILIL L_F1%H FIRTNIH6T Q)evenev. 25,5 Gal, earmy
wl G (Ppy ewpuL ) FHlwrss CsrararLiLi (s ng.

0.57) According to ancient Indian literature, select the correct pairs.

uested LW @QpH W @QevEGwgF ey, FHlwner Cegmgsenar G5ibGsH%sa Lb.

1. Tolkappivam — Grammar / Q& med&mLILNWILD — () V&S GHTLD

2. Mahabhashya — Ethics / o&mumeauwh — Q) pm)

3. Silappadikaram — Tamil Ramayana / LIS SaILD — SLOILD @) TTLOTUWIGRTLD
4 Mattavilasa Prahasanam — Satire / 10 &SNV TF L TQDFGTLD — 69 [BULI TGITLY.

[A] 1 and 2 only / 1 opmitH 2 1oL" (BILD
[B] 2 and 3 only /2 opmitd 3 1oL (BILD
[C] 3and 4 only /3 LopmiLd 4 oL” (HLd
[D] 1 and 4 only /1 LopmiLd 4 oL” (RILD

[CORRECT ANSWER] [D] I and 4 only / I opmy 4 1oL BLb

[EXPLANATION]

Tolkappiyam is an ancient Tamil grammar text. Mahabhashya by Patanjali is a commentary on Panini’s grammar, not on ethics.
Silappadikaram is an epic, not a Ramayana. Mattavilasa Prahasanam by Mahendravarman is a satire./Q$me0srLiLwLh (3)6v&5s%ewrLd
GMES LiesTenL_w SLOLH BI6V. LIFEhFeSuier & mLmeakw L) Limewnflesufler )evdsent allerdsid; g 6B BHIed oyedev.
FLiuGsrgd b sraflwid; @)oromuentd ede. 1oGsBS TeIFLO6T T(LpB LSSV TF LT FGTLD 6 [bILITEHTL)-
BTL_BLD.

0.58) Varaha sculptures:

QUITQD T P LIBISGIT:

1. Udayagiri & Khandagiri, Odisha / 2 gw &), $B5FH — epLg.&m
2. Eran, Madhya Pradesh / e1giiest — oS gGsFLd



3. Mamallapuram, Tamil Nadu / LomoeevLygLd — SLOILP BT
4. Aihole, Karnataka / @ Gammed — SFpTL_&T

Which one is correct? / 61%) afﬁu_lﬂmgj?

[A] 1 and 2 only /1 Lopmiid 2 oL QLD

[B] 1 and 3 only /1 opmitd 3 LoL" (BILD

[C] 2,3and 4 only/2, 3 opmiLd 4 oL"(HLD

[D] 1, 2, 3 and 4/ eSS/ LD

[CORRECT ANSWER] [C] 2, 3 and 4 only /2, 3 LopmiLd 4 toL” (hLd

[EXPLANATION]

Famous Varaha reliefs are found at Eran (MP), Mamallapuram (TN), and Aihole (Karnataka). Udayagiri & Khandagiri in Odisha are
mainly Jain caves and not associated with Varaha sculptures./ @Imeyn T S LIBIS6T IFTeeT (Lo. L), LOTLOGOGVLTLD (. [BIT),
2Canmed (HBTL51) Q&F W @)L EIFefed FTeRTLILIRF STDET. ¢@lgFTaileT 2SS f-5b5F) T &S aT FLDGWTIS% 6V L 63T
QBTL_JL6D L Weneu; eUFTauDT PP LIKIEGT (Q)606m6V.

0.59) Dynasties with capitals in Karnataka :
SIBTL_SSH 6D SOV BEHIL Ol&TRTL 6ULOFBIFGIT:

1. Rashtrakuta / FeLq o L
2. Hoysala / Qammuignerg

3. Kadamba / S1_1H1L15

4. Satavahana / F1%% 6\ 1D GoT [T
5. Tkshvaku / @)Fyaum@

Which one is correct? / 618 Ffluimesig|?
[A] Only one / @&ty oL (HILD

[B] Only two / @)gesst(®) oL (HLD

[C] Only three / epe¥imy LoL" (HILD

[D] Only four / paesr@ oL" (LD

[CORRECT ANSWER] [C] Only three / eLpavim| LoL" (H)LD

[EXPLANATION]

Rashtrakutas (Manyakheta), Hoysalas (Dwarasamudra), and Kadambas (Banavasi) had capitals in present-day Karnataka. Satavahanas
(Deccan, Amaravati) and Ikshvakus (Andhra) did not. So, 3 dynasties./ JT@¥19 I L_[F%6T (06T GHS M), O)an TUIFTATISGT (&IeuTT
FUPSHILD), HL_LOLITHET (Liesstound) 24,5 CuimHleT $enevbsImisar SHBTL_ 55560 ()5BS, FTSH6 T GSTIS 6T
(BSHHTENILD, LOITD), @)Fos@ITSHBHFET (B TLD) SHBHTL_HSF 60 @)evenev. 2,5 Gal, eLpeTn QULHFEIGET LoL” ()LD,

0.60) In ancient India, the practice of worshipping dead rulers was first adopted by

et LW @Q)BpHWTaied @mEs HYIFiFsear USRI LULpSHSFHS (LpFedled L‘ﬁmug)gﬂu.l@.lg&@
[A] Mauryas / Qoerfluif

[B] Kushans / & e mewri

[C] Guptas / GLIST

[D] Satavahanas / F13% e Teun e8TH

[CORRECT ANSWER] [B] Kushans / & &y messti

[EXPLANATION]

The Kushans, especially under Kanishka, promoted the deification and worship of deceased rulers as divine beings to legitimize their rule
and authority. This was not practiced by Mauryas, Guptas, or Satavahanas./ & e TesSTis 6T, GDILILITS %6504 NG HMevSF6V,
@wps SyrFisemar Osuiauonss) eyl L el @)% euisEpeL W L Fenwd FL L LFeuons@d euflumrs

@B ESSI. Owerflwd, GLST, FISS0TADGTT @)FSH6HW B6w L (LpeD et LIGTLIBH D@60 6w 6v.



0.61) Consider the following statements:

LeireuhLd MlFenFEearLi LIfIFe0sE e Lb:

I: Indo-Roman trade witnessed exponential growth during the 1st century CE. / &.19. 19416 mimprestiyed @)pGsm-Gomio
eurenflLiLh LA GBS UTIFF FHesTL_g).

II: Satavahana rulers were the first to introduce shipbuilding, ports, and warehouses in ancient India. / LiesstenL_w @)BFwmailed
SLILIG S (DB, FIWDLPFHBIFET LoPMILD &) L_EIFHB 6T HYWN(LPHLILIRSHW (LPFeD YL FWITATISHGT FTSH 6 TUD GSTHH .
Which is correct? / 618 FWImesTS|?

[A] Both I and II correct & Il explains I/ 1 opmiid I (@) gesst®Ld #ifl & 111 g9 @Slens &S mg

[B] Both I and 11 correct but Il not explanation /I opmyid 1 @) oesst(pLd F1fl, Qperred 1 aflenssid @)evene.

[C] I correct, Il incorrect /I &, Il Saim).

[D] Lincorrect, Il correct /I Soumy, 1 Fif)

JCORRECT ANSWER] [C] I correct, Il incorrect /I &ifl, II Salmj.

[EXPLANATION]

Indo-Roman trade flourished in the 1st century CE, with Roman coins and amphorae found in South India. Satavahanas encouraged trade
but were not the first to introduce shipbuilding, ports, or warehouses—these practices predated them.

/ &).19. 194D mrpresTiged @Q)FCHrmCumio eunendlLiLd o 55515 O\Faing). oo BIewT BI%6lT, LIMSS) 5% 6T

O eresflp B wmailed FeT(H LY ESLILIL H)OTTCS. FIFSH6TUDGSTISHGT 6Tl LIS S 2615 &N SSH6ST; 2),eoTTeD HLILIGY
SL BB, FIODLPHLD, FL_51@G CUITSTID 6[isHEhs G (LTt Gr Q)5BS 6.

0.62) With reference to cultural history of India, ‘Apabhramsha’ refers to:

@ BB w6t HevndFTT eugeIPPled, “YLLigLday” &GplsELd ClLmper:

[A] Cremation practice among royals / o0& & B OSSO () (HbS SHGTLD (LPEOMD

[B] Different versions of Prakrit language / 1901&) 58 OLomAui6sT Licv @19 61 EBIS6T

[C] Group of people in Kalidasa’s plays / &Tef&maesT bTL_&mI%5aMN6d u(HLD LDSHSET & (LD
[D] Type of property tax / Q&85 aulfl auens

[CORRECT ANSWER] [B] Different versions of Prakrit language / 1951 5& O)Lo mySuf6sT LIcv 61Lq 6 EIdS 6T
[EXPLANATION]

Apabhramsha refers to the late stage of Prakrit languages, which later evolved into modern North Indian languages. It does not denote
cremation, people, or tax. / “SuLigibey” e1aiLIg) L1on% (5% Glomfluller LIBensw plevvedw GPSH DG Llevresi

L @B w O)om% 6T 9 DS (BBSI 2 (HeUTeSIE). SHGILD, LDSFET & (LY WG lf GTRTLIGHSS &PSE M.

0.63) Consider the following statements:

L96816u(BLD YW E®BFH®TL LIFIFeSS % e LD:

I: Pillar inscriptions & rock edicts of Ashoka were erected to propagate Buddhism. / ) G&mafes1 Giesst H6006)6uL (HS6T LopmILD
SDOLIVSSHET OLIGTSSF®S LI LITLIL|QUSDHE TS 3{6HLDSHLILIL L GHl.

II: The main objective of Ashoka’s dhamma was to regulate social order. / 9G&nsfesr “sLoom” Gamaransullet LpsHw CrrEsLd
FeLPS P LPBIDS SL_HLILIBHS SIS TG LD.

Which is correct? / 618 Flwimesig|?

[A] Both I & II correct, Il explains 1/ @uesst(BLd &), 1 — 15 @ ailenssLb

[B] Both I & II correct but II not explanation / @) gesst(GLD &1f), peu16d [ - 18 aflaTdsLb 9j6edev

[C] I correct, Il incorrect / I toL"(H)LD &if)

[D] Lincorrect, Il correct /I oumy, I tor” (HILH F1i)

[CORRECT ANSWER] [A] Both I & II correct, 1l explains 1/ @ oesst(pLd Fif), 1 — 185G alersdsLd
JEXPLANATION]



Ashoka’s edicts were erected to spread dhamma, which emphasized social harmony, morality, and welfare. His dhamma aimed to regulate
society beyond just religion, thus statement Il explains 1. / ) GFnafe1 $60 QUL HS6T SLOLOFESLT LITLILI SJGHLOSHSLILIL L_GIT.
Lo reiasr CBrssLd Feps @omIenLn, FeO0lT(LpESLD, FeveaTLf Fwenal. eTatGeu [l — 15 aNGTEEHLDM%H 2 GTGTS).

0Q.64) “Originally a Buddhist cave, later converted into Shaivite temple. Portuguese defaced sculptures and made it a church (called Mont
Perir). Identify.”

"LpSDND @ LSS G, Liatars evgeu Camallevns woapprivl’ L g CurissSFwbiser HpLmEear Hensss
s @6 Csaurewons (Gometl” O\LfF 61l HYewpSEHLILIL L 68TH) LOABPIGTH. DL WTOTLD FTewTa LD, "

[A] Kanheri Cave / s1Gestifl @ens

[B] Elephanta Cave / 6TQ)6uLIGSTL_IT 6%

[C] Lomas Rishi Cave / Govmiomen flafl &ens

[D] Mandapeshwar Cave / Loess5TL_GLIOH®UT &0

[CORRECT ANSWER] [D] Mandapeshwar Cave / 1oewtL_GLIa)6UT &%

JEXPLANATION]

Mandapeshwar Cave (Maharashtra) was originally a Buddhist cave, later converted into a Shaivite shrine. Portuguese defaced its
sculptures and used it as a church called Mont Perir. / oo Tgmau1g gradlesr e CLapald @ams (Lpgedled CLIGTSs &ens,
esrenrs enaeu yevwions oappLiLl L g. CurisggGRwuiser Apumisamer CosLiL®h$P), Gomer” Glufy erein
Caeurewons oapBleTs.

0.65) ‘Basadis’ and ‘Derasar’ are terms related to which sect?

LFTH 6T pmid 'CEarngy’ e1arLg) 61hSLI LIfayL_aT CGTL_fLjenL_w QOFTDHSHeT?
[A] Jainism / FLoGwTLD

[B] Buddhism / QLieng s LD

[C] Vaishnavism / @ evesste LD

[D] Shaktism / F&& LD

[CORRECT ANSWER] [A] Jainism / FLOGRTLD

[EXPLANATION]

The terms “Basadi” (Kannada) and “Derasar” (Gujarati) are used for Jain temples. They are not associated with Buddhism, Vaishnavism,
or Shaktism. /

“LF)” (et _LD), “CLgar” (&@M$3) P w CFTPS6T FLOGHILD LDSFSF FTibs CHTalc0Ee®ars @ m)sELb.
OLIeTE5LD, auaTalLd Hevg FESLD B WapCnT® C&TL_[L @)evenov.

0.66) Consider the following pairs (Site — Importance):
LesteupLd Geomig senard &euest)u)BI%a6T (SETLD - (LPSH WSS QULD):

1 Muziris : Buddhist pilgrimage site / (Lp@flav — QLIGTSS WISF OIS SeTLd
2. Ratnagiri : Pre-historic geoglyphs / 16e7%) 0] — Lyieussmev Lj@ild SpLimsisaer
3. Chaukhandi : Port of Sangam Age / Q\FQN&essILy. — FBISHTV F|e0D (LPSHLD

How many are correct? / 61%% 69 6T FHUITGTEH a7
[A] Only one / &1y oL (HILD

[B] Only two / @)gesst() LoL" (HLD

[C] All three / eLpe@TmyLd

[D] None / 6181 @)eDemev

[CORRECT ANSWER] [D] None / 6181 @)edenav
[EXPLANATION]



Muziris was a major port for Indo-Roman trade, not Buddhist pilgrimage. Ratnagiri is famous for Buddhist remains, not geoglyphs.
Chaukhandi is a stupa, not a port. So all are mismatched. / Lp&Mav Cumio eunewilLI Zeom(LpHLd; OLINSS WTSHeOIF SETLD
QY. SIS N OLITSS FeienisepsGL LITFSS), Lald PO LIBISEESE 0. CIFaTSEHILY 6 (h GVSHTLILD,
SIDDLPHLD V6V, 6TaTGeU 6TF e LD FHWGOG.

Q.67) Which of the following sites in India are known for mural paintings?
@BFWTaI6D 6TBS HaTBI%HGT Feul @allElsEh5% 1% LITLIGLD TETen6?

1. Khajuraho Group of Monuments / %37 7rGaun T 5] 65 65T 01| &) 65161 61 5% 61T
2. Ravan Chhaya Rock Shelter / JTeUewT FTWIT LITGHDS G F

3. Jogimara Caves / Gggm&)LomIm &0 aT

4. Ajanta Caves / QBB T &N HS 6T

[A] 1 and 4 only /1 LopmILH 4 LoL" (RILD

[B] 1,2and 4 only/ 1, 2 opmiLd 4 LoL” (HILD
[C] 1,2and 3 only/ 1, 2 opmitd 3 to"(HLD
[D] 2,3and 4 only/2, 3 opmyLd 4 toL” (HLd

[CORRECT ANSWER] [D] 2, 3and 4 only /2, 3 LopmjLd 4 1oL” (HLD

[EXPLANATION]

Ravan Chhaya, Jogimara, and Ajanta are renowned for mural paintings. Khajuraho is famous for sculpture and architecture, not murals. /
greuest Fmwm, Cr@Lomm, 9@bST B W e Falf @ailmisEhsEL LaholLppeel. seg°rTCGan T HPLIS Seoew
YD/ L 191 HMEGL LTRSS, Feud @ailllmis@hsd 6.

0Q.68) Significance of Maski Inscription in ancient India?

uestenL_w @Q)BHwrailed “ored® He0euL 1§68 (EHWSSHIeULD?

[A] Contains the name “Ashoka” instead of “Devanam Piyadassi” / “Ggeupmd 1w en)” eratigm@L LBewns o CFrs fler”
Quwg 2 eTeng)

[B] Shows prevalence of Vedic rituals in Deccan / $8%mes153e0 Caug FL_m1%H%6T () (BbS6T TRTLIDSS ST (HH DS

[C] Mentions Sudarshan lake built by Pushyagupta / L{eyWGLIST L 19 W &S TauesT erflenw GoILiLHSmg

[D] Confirms Chola descent from Sangam Cholas / GFmipigar Fm1%5 160 CFTLpISHMT F555) 616 2 M FLiLI(HSHIF DS

[CORRECT ANSWER] [A] Contains the name “Ashoka” instead of “Devanam Piyadassi”/ “Ggeupmd twged)” eTerLISm &L
LuBewns “oCansfler” OLwg 2 eTeng)

JEXPLANATION]

The Maski inscription is significant because it explicitly mentions “Ashoka,” confirming that “Devanam Piyadassi” in other edicts referred
10 him. / “1omav &) H600leu” B "alled Crrigwns “yCansm” ererp O\Liwd 2 aTerg). Q)& eLpevLd P Hev6leuL” (R aied
au@pLhd “Caeaupnd LNwugsed)” ererp Quwi o CengseamrCu @pHlsSng cTaTLiens 2 IS LILI(HS SIS DI

0.69) What was "faience" often used for in ancient India?

uessieL_w QB wrafled “obemLiwiered” GLI(BLOLITGYLD 6TSDHHTH LILGTL(RSSLILIL L Z)?
[A] Make beads and bangles / L0ssfl& 6T LoD MILD aUeHOTWRF T O FuIw

[B] Make iron equipment / Q)(5LOL| 2 LIS TewTEIS 6T GlFUIW

[C] Segregate urban areas / p&HILI LIGSHsenarLi L9555

[D] Make silver coins / Geuaie rewrwimiser OFuiw

[CORRECT ANSWER] [A] Make beads and bangles / Loessl&@iT LopmiLh 66w aTwied% 6T OlFuiws
J[EXPLANATION]



Faience, a glazed non-clay material, was used in the Indus Valley Civilization mainly for making ornaments like beads, bangles, and small
decorative items.): / “o%e®LILIGHTGD ” 6TGHILIGI GILD(hInL L LiLiL" 1 H6flLoewT Yevevrs GlLmaper. Fpg Fo6leuen
BIsH%ESH0 Q)& LoewfllF 6, auenaricdsear GLITEID I LIgewiBISemard O Fuiw L LweaTLGSSLILIL L G).

0Q.70) “Exports of pepper (from one region), pearls, ivory, silk, precious stones, diamonds, sapphires, tortoise shell.” Which place is
described?

"(h LGB NS BBSI) LTS, (LPSSHISH6T, SHSLD, LIL (B, alleneywibd HDH6T, a6 TBIE6T, baSseD, L 6 (h
B weupPleT apmiwd.” 6165 Q)L b afleuflEsLiLL" (heTers?

[A] Bengal / @1B1&TGTLD

[B] Coromandel Coast /GFTLPLOGRHTL_ a0 HL_DHenT

[C] Malabar / 1oev L1

[D] Gulf of Khambhat / &mdGLi euenem@L_im

[CORRECT ANSWER] [C] Malabar / LooLims

JEXPLANATION]

The Malabar region was famous for exporting pepper, pearls, ivory, silk, precious stones, diamonds, sapphires, and tortoise shell, making it
a hub of Indo-Roman trade. /LoeoLimg LI&S) LOGTS, (LpSSI, WS 6TVILDL], LIL' (), aSlenevujwibsd FHEH6T, @auLd, Hev
L6l 6T, LD 63 (B 2% Wl PPl IP I BE G LI La O LD QFetned @)g Cumio euresilLi eoLow DTS Q)(BBSS.

0.71) Evidence at Indus Valley Civilization sites includes:
Fpgl FLo6leual FTsHs FarmFeled FaTHLIYFSSLILIL L coal:

I Seals with swastika symbol / &a160$&F FeTestLd O)&TGRTL (LpSS) 6w T 6T
2. Ivory decorations / WTEMGT 6TGYILDL| D GUBISTFLD

3. Gold ornaments / Q)LIMTGST [5eWHH G

4. Cinnabar-based cosmetics / FGSITLIT LD @ FTSGHT/BI% G

5. Iron swords / @)(BLDL| &UTGTHGT

Select the correct one: / FRlwnesienss CHib0)%HSSa LD:
[A] 1 and 5 only /I LopmIH 5 LoL" (BILD

[B] 3 and 4 only /3 opmitd 4 1oL” (RILD

[C]1,2 3and4only/1, 2, 3 opmid 4 LoL" BILD

[D] 1, 2,3, 4and 5/ 9696515 G| LD

[CORRECT ANSWER] [C] 1,2, 3 and 4 only/ 1, 2, 3 top i 4 1oL (B)Lb

[EXPLANATION]

Archaeological evidence from Indus sites includes seals with swastikas, ivory decorations, gold ornaments, and cinnabar used for
cosmetics. But iron was unknown to the Harappans, so statement 5 is wrong. / @& FLo0)eual SemmiSeied &ealab@ % (Lps P 6w IS e,
WITGHET TR LDL| GUBISTILD, OLITGH BenSSH 6T, FGSITLIT 3L @ FTS68IBI% 6T &ess (B LG SHLILIL (HGTGTGT. 3, GoTT6D

@ BLOL @O ILILITSEhS & PWLILIL 155 255Cal 5 Saip).

Q.72) Which one of the following statements is correct about Queen Ahilyabai Holkar of Indore?

@ parflet gresstl 9@ eowrLimul Canness &mlss LleTeBaeaTeupPled 615 FHwTesg)?

[A] She was the daughter of a Maratha Peshwa. / $joug Logng@w g GLiakeumaiesr Lo arT.

[B] She was married to a Mughal nobleman. / Sjeu @b (LpHeVTW G LYW TF(5H S B (HLOGRTLD T T

[C] She is remembered as a benevolent ruler and builder of temples and dharmashalas. / @[ % (H6® GRTIL ATET U%l_'@u_lrrmgna;mm,
CarailedsaT PmILD SHLOFTEGVSHET SL 1Y WU TTEHQ LD [BleD6sT e dn TLILI(H G D M.

[D] She was defeated by the British in the Battle of Buxar. / 1&g Gumfled yeug LN 19 epmgred CHapa9sSSLILIL L T,



[CORRECT ANSWER] [C] She is remembered as a benevolent ruler and builder of temples and dharmashalas./ {6\ [T & (165 GSSTW| GITGT
<L Fumergrsayb, Caralledsar pmILd $TLOFTVEHOT SL 19 WITTSRLD BeDesTa | TLIL (H S DT

[EXPLANATION]

Ahilyabai Holkar ruled Indore with wisdom and compassion. She is remembered for her charitable works, building temples, wells, ghats,
and dharmashalas across India./ 9B Owruim Canredsy oymleyLd & henestuLd Cl&mesTL L Fwneryins ()5BS .
Camaileds a6, HewIniF6eT, ST F6T LODMILD STLOFTHVHT L 19 UISDHEHTSH 6T 569 6T6 dm TLILIHF) D M.

Q.73) With reference to the cultural history of India, the terms ‘medhi’ and ‘yashti’ are related to

@ BFwrafest LesTUTL (B augevTDennd FTingl, ‘G0 PmId Wekly’ 6TRTLI @grn_m_/ml_u_lmm
[A] Classification of land / Blev @uen&SLILITH

[B] Taxation / auflaI& L1y

[C] Megalithic burials / QLIFWISR VDS T

[D] Stupa architecture / @O&HTLIS SL 1§ L_FHFHeH6V

[CORRECT ANSWER] [D] Stupa architecture / @VT1LI% SL 1§ L_FHeH6V

[EXPLANATION]

In stupa architecture, “medhi” refers to the circular terrace around the dome and “yashti” is the central pillar on top, symbolizing the
cosmic axis./ aVGTLIG HL 191 Fsemeuiled, “GLoG)” eT1eaTLIg] GHILOTL_Feos5d Hoplerar GLoenL ; “Wakly " 6TeITLIZ
GLogyarer eoLows HIewT. @& L1TLIGHTF YFensF GDISF D).

0.74) Consider the following pairs (Painting—State):
LereupLd Ceomiy FHenard %euestliymiser (gailwLb—Bleev):

1. Pattachitra — Odisha/ UL L_FFSIT— L9 FIT

2. Patua — Andhra Pradesh/ Li®eur — 5@ L1 195Gs5FLd

3. Warli — Maharashtra/ a1mjeS) — L0& TITOYLY TT

4. Manjusha — Himachal Pradesh / 1o @h&auT— anflondFevL] L97G5FLD

Which of the pairs given above is/are correctly matched?/ eteupd Ggomysemarii LfGedlssayLd (gallwb—omplevid): GoGev
Qar®ssLILL Baeter CeomiyFeaflcd 615/ 6Ten6u FHlw TesTs)?

[A] 1 and 2 only /1 LopmItH 2 1oL” (RILD

[B] 1 only/1 tol” QLD

[C] 2 and 3 only /2 LopmiLd 3 toL” (HLd

[D] 1, 2and 3 only/ 1, 2 opmyid 3 toL” (HLd

[CORRECT ANSWER] [B] 1 only/ I oL" (®)Lb

[EXPLANATION]

Pattachitra is from Odisha. Patua is Bengal folk painting, not Andhra. Warli belongs to Maharashtra. Manjusha is from Bihar, not
Himachal Pradesh. / L L@ g1 — @&, LB euT— QLIBIST6), BB ILD 9606V, UTFed) — LOGTTTOHLY TIT. LDGHIFa0T —
fammg; afliondgFert NgGsFLd 6.

Q.75) With reference to the cultural history of India, ‘shabdam’, ‘padam’ and ‘varnam’ are

@ BHwrelest LeTLTL (B ugeTPPled, ‘FLSLD', ‘LIML_LD', ‘QUIeRTLD 6T6LIGH U

[A] Elements of Bharatnatyam performance / L1g&BaL 1901 B LHFF UG Fo. 1 5 6T
[B] Traditions of Stupa construction / @UGLI& &L (BLOTGST LD[JL|FGIT

[C] Classification of folk theatres / BT (D& InGGH| @UCHSSGIT

[D] Music used in folk dances / BTL_(HLILD BLTBISaTND (Q)enF

[CORRECT ANSWER] [A] Elements of Bharatnatyam performance / gL 19 W B)&LHFFUINGT Fo )1 & 00T



[EXPLANATION]

Shabdam, Padam, and Varnam are important components of Bharatanatyam repertoire, combining music, rhythm, and storytelling. /
FUSLD, LIML_LD, UFeRTLD B W6 LITTSFTL 1Y WS (LpSFNIS FnDIF6T. Q)e6U Q)e0F, FTGTLD, S0 CIFTO)
EUD D 636V TS %) 68D GoT.

0Q.76) Consider the following pairs (Work—Author):
LereupLd @)enent HenarLl LfFeSEsa b (@Q)evsdHw b flwig):

1. Vikramanka devacharita — Bilhana / @9%710m51%5 GgeusFflgLd — L960aum eorm
2. Mushika Vamsha — Sandhyakara Nandi / (Lp@§l& eULDFT— FBSWAHTT B5S)
3. Rajatarangini — Kalhana / 7mg0 7151 G) esst] — &% 60 eun GoTT

4. Ramacharita — Atula / @OTOFRSLD — 2SIV T

How many are correct? / 61%% 69 GoT Fifl Wl TGTe0 61?
[A] Only one / g@&Im) oL (HILD

[B] Only two / @)gessr(h) LoL” ()LD

[C] Only three / epe¥imy oL (HILD

[D] All four / BrewT@Ld

[CORRECT ANSWER] [C] Only three / eLpe¥tmy LoL” (h)LD
[EXPLANATION]
Mushika Vamsha was authored by Atula, not Sandhyakara Nandi. The other three pairs are correctly matched./ (Lpafl® QULDFT &6V T

TIPS WG], FBSWTHTT BHF V6. LYW epeTn GTLYFaT FHITS 2 GTATET.

Q.77) With reference to prehistoric rock paintings in India, consider the following statements:

@) BF W Tl LiessTenL_w LITenn @eilwmFEenard Faibgl L16Teu(BLd Fpmisearl LiflFedlssa)Lb:

1. The paintings of the Upper Palaeolithic phase are linear representations, in green and dark red, of huge animal figures. / GLoed
UL EISHETO @il mEIsaT LFens pnId Lpns Failifle Cufw ellewsigseiear CriGsrL B 1975 B S o5 e si%aer.
2. The largest number of paintings belongs to the Mesolithic period where themes multiply but the paintings are smaller in size. /
1% 9% @alwmisaT EBHSSI% P& TS CFibGemal; &(HLIOLITIHIST HFSLOMS Q) (BHSTNILD eIl BIsa6T
FAYlw erailed 2 aTerTes.

3. During the Chalcolithic period, vividness and vitality became more prominent than earlier periods. / 2 Geunss &P TS F 6D
R@NWIBISGT (LS W STVBIGE TS ML LG eV/Ld & ufFLiLL &1 opmitd C)Fefeuns srewrLiiiL’ L .

How many are correct? 61%% 60T FIUITGTe0 61?2

[A] 1 and 2 only / 1 opmitd 2 1oL" (BILD

[B] 1 only/ I ol (LD

[C] 2 and 3 only /2 LopmiLd 3 toL” (HLD

[D]1,2and3/1, 2 opmyid 3

[CORRECT ANSWER] [C] 2 and 3 only / 2 1o®miLd 3 1oL” (HILD

[EXPLANATION]

Upper Palaeolithic paintings were mainly in red/ochre, not green, so statement 1 is wrong. Mesolithic had the largest number with small
figures (2 correct). Chalcolithic paintings were more vivid and lively (3 correct)./ GLoed LILpBIZDH T gpaflwiBIGar O)LI(HLDLITEY) LD
Q&b @hFaT/ a5 Med Q) (BB, LFenF Qevenev (I Sauml). BEHSSTH SPHTVEH 0 AP 2 (56U BIS@FL_ 6T 9T
@allwmser @) brset (2 &). 2 Cawrsd spsTvs S @alwniser Glgefeunseyd o ulfLiLL T Q) bBSeT (3 F1).

Q.78) Consider the following pairs (Folk Dance—State):

LereupLd @)enentsenart LFfFeNsEa b (BT 1gu a9 aLD—LDMBGVLD):
1. Garba — Gujarat / $JUT— &&QITS

2. Kalbelia — Rajasthan / %60 GLIeSWIT— FTgoe & mesr



3. Ghoomar — Uttar Pradesh / @bLog — 2 35511 190CHFLD
4. Thang Ta — Assam / &TBI L_T— O FTLD

How many are correct? / 61%% 69 6T FHUI TGTEH a7

[A] Only one / g&¥1m) LoL" (HILD

[B] Only two / @)gesst(®) LoL” (HLD

[C] Only three / epe@imy LoL" (HILD

[D] All four / BreT@Ld

[CORRECT ANSWER] [B] Only two / @)uesi(®) LoL" (B)Lb

[EXPLANATION]

Garba is from Gujarat and Kalbelia from Rajasthan (both correct). Ghoomar is also from Rajasthan, not Uttar Pradesh. Thang Ta is a
martial dance of Manipur, not Assam. Hence, only two are correct./ SFLIT &gIms% 60, H60CLIOW T TTg060 % T6wlle) 2 aTardy) (Fif).
@LOLOT 7Teav s 1en %G Awsl, 2 50U L976555B0 & evev. Fmml Lm ewflLiyyfer Gumpm i B’ g uwibd, yFmdet
9jevev. 6TeaTGeu @) uest(R) Q)emewrsar oL B CLo Fiflw resenal.

0.79) Consider the following statements regarding the different sects of Buddhism:
Ouergsg G e GleualGoaumy Fepsmisemarti LIDBW LIGETe (HLD FaoPMISHeET %5360 Ol& TaTaTea LD:

1. Hinayana Buddhism is the orthodox school of Buddhism that does not believe in idol worship. / @mlestwimestm Q) LIaTS S LD
PoniBTLner QLeTgs LFLI LieTalwm@GLd, Q)& LILYLOLT Lien@en W BLOLITS).

2. The Mahayana scholars predominantly used Pali language. / Loawp mwimestm GlLIeTSS M @his 6T O LI(BLOLITSYILD LiTer
Qmfleow LwesTL S BesTs.

3. Emperor Ashoka patronized the Mahayana sect. / GUITsd 9| SFTHET LD MW TGSTT FELPQUDS NS S T1SH S M1

4. Theravada Buddhism believes in six perfections or paramitas. / GHreunsm QLIGTSSLD mI (Lp(LpEHLOEGIT DGOV F

uglfl_mev 155 BLOLIG6wS IEF D).
[A] Only one is correct / &8y LOL" (RILD FL)
[B] Only two is correct/ @uesst(p) oL (HLd Fif)
[C] Only three is correct / etpastmy oL (RILD Ff)
[D] All are correct/ paasi@Lb Fifl

[CORRECT ANSWER] [A] Only one is correct/ epastmy LoL"(H)LD FLf)

[EXPLANATION]

Hinayana or Theravada is indeed the orthodox school and it does not encourage idol worship, so statement 1 is correct. Mahayana scholars
mainly used Sanskrit, not Pali, hence statement 2 is wrong. Ashoka lived before the rise of Mahayana, so he could not have patronized it,
making statement 3 wrong. The concept of six perfections or paramitas belongs to Mahayana, not Theravada, so statement 4 is also wrong.
Thus, only one statement is correct. / @St mesTT 9eevg CHraunsm o esstenioufled LimgbLflw OLTSSLI LieTel 4@Lb,
@3 L1y 1oL) Yewggen i 2618 @ aissalleben ey, 6TasTGeu dnpm) | FAWTETS). LoD TUITGSTT 9i)@hI% e O)LI(HLOLITEYILD
FLOaL& (5% Gomflenw LweTLIRSS e, Limeflenw 9edev, 61aTGeu Fmmpm) 2 Seuml. 9 CFTHET LoQUD TWITGTT 6T(LPBSSMD G
LPp&T UTLPBSTH, 245Cau aif ens 25055 (L wngl, eTaTGal spml 3 SeInl. Ymi LTS M6 61D &(HSH

LoD MW TeNTTa %G W), CHI6uT5Me 556060, 6TaTGal Fmpnl 4a/Ld $ain). HsCar Fpn @eaTnl L B Filwrers)

0.80) Consider the following statements:

LIGTRUIBLD FnDMIS T HBSB 0 ClBTaTETELD:

1. Odantapuri and Vikramshila were ancient Indian learning centres constructed under the patronage of the rulers of the Pala
dynasty. / @L_BSLIH LoPmId @IETLOGEGT LITEY QULDF TFIHONGT ST LT 2 (HeUTHHLILIL L LIGSTenL_L Q)55 W
FH@I) 60 LDUIBIS G,

2. Invasions of Muhammad bin Bakhtiyar Khalji, a ruler of the Khalji dynasty of medieval India, severely damaged the
establishments at Vikramshila and Nalanda. / 10%@w%mev @) S wmeiesr He0gl) auLdF 9y gFi (Lp@DLOLoG] LGS LIsSH W M
&160gl) SR ILOLIL s 6T NG TLbaflevT LPpiLh FTEST $e0all BlmieueTnis@ps @ 0L CFsLd eIpLIBHSH WG,
Which one is correct? 61&| FHWTeES]?



[A] 1 only/1 to1” QLD

[B] 2 only /2 tot” QLD

[C] Both 1 and 2/ 1 opmyLd 2 (@) gesst(p)LD
[D] Neither I nor 2/ 1 9jed6vg| 2 2e06v

[CORRECT ANSWER] [C] Both 1 and 2/ 1 toppith 2 @)mest(pLb

JEXPLANATION]

Odantapuri and Vikramshila were Pala dynasty learning centres. Later, Bakhtiyar Khalji’s invasion destroyed Nalanda and Vikramshila,
dealing a heavy blow to Buddhist education. / @L_BSLIH, @GTbaflevT — LITe 9IFi% a6 He0all eoLow mIFar. LesTes ]
us@wrg Hevgdluler Lien L Qu®BLiL prewsst, aflgrwaflewvraea 9flss CLaEss sais@ CluwmpL Csssams
apUBGS WG

0.81) Consider the following statements regarding the famous sculpture of Seated Buddha from Sarnath:
FIIGTTSH 0 2 6Tar LHLHOLIDBD LIS LISST AP LSSL LPBlw LIeT6U (FLD Fo D DISEET H(55F 60 Ol& TeiTarayLD:

I Buddha is shown seated on a throne in the padmasana. / &S J LIGLDTFGTS S 60 GLOLOTFGTSF 60 YLD bS] GTGTTL.

2. It represents the event of Buddha attaining enlightenment at Bodh Gaya. / @)&I LSS T L|SSHW T GHTGTLD JeL_[bFeD5
GBSFDFI.

3. The sculpture belongs to the Kushan period. / Q)55 FPLILD &euTeT STvGSF CFIBHSI.

Which one is correct? 61&] FHWTeSIS)?
[A] Only one / @&Im) LoL" (HILD

[B] Only two / @)gesst(h) LoL” ()LD

[C] All three / eLp&STmILD

[D] None / 618D (@)a)emev

[CORRECT ANSWER] [A] Only one / gami tor" ®Lb

[EXPLANATION]

The seated Buddha at Sarnath shows Buddha in padmasana on a throne, but it represents the First Sermon at Sarnath, not enlightenment at
Bodh Gaya. It belongs to the Gupta period, not the Kushan period. Hence, only statement 1 is correct. / FTIGSITSF 60 2 TG LIS
YSS[ LISLOTFGTSHe0 FILDLDTFGSISH 6 L[S GTGTTH. 2eTTed Q)& LSS W mailed @hresid QlLPDenss &L L moe,
FTIITSF® BL_bS (LS 2 LIGCEFEMS GMEH MG @& GLISS HTvSnGF CFIBSSI, & Tl FTVE®SHF CFIBSSH
2Jevev. 6TaTGou, Fapml I oL (HLd FRwimests).

Q.82) With reference to the history of Indian rock-cut architecture, consider the following statements:

@BF W 9FSOWF Fed HL141L_FHe06v UFTHEDLI LIHBIW L6876 BLD FnDnIFenaT LIfESEHa LD:

1. The caves at Bhimbetka are the oldest known surviving rock-cut caves in India. / LG &1 &S H6T ()65 W TS G5
LILDGOLOWITGST S F @IS HGD (&HEWHSE M.

2. The Barabar rock-cut caves were originally made for Ajivikas by Emperor Asoka. / LmguUTy &e0a%a6T 9 CFI1aHIT60
BN F[H@5EHTH SLL_LILIL L aoau.

3. Kailashnath temple at Ellora, built in Vesara style, combines Nagara and Dravidian traditions. / 6TGeUTIT 69&QIFHIST
Garaied Geusnm auig ailed, prsrr-Faraill LoIL|Semar (@)enewTs S ns).

Which of the above statements are correct? / GLODSGHTL_ FnPDMIF i) 61696 FHUITGTEHG?

[A] 1 and 2 only /1 Lopmyid 2 toL” (HLH &)

[B] 2 and 3 only /2 Lopmyid 3 oL QLD &)

[C] 1 and 3 only /1 LopmiLd 3 ol (HILd Fifl

[D] None of the above / GLoGevwjaiTar 618 afLD @)e0em 6V

[CORRECT ANSWER] [B] 2 and 3 only /2 opmitd 3 1oL (HILD
[EXPLANATION]
Bhimbetka caves are prehistoric rock shelters, not rock-cut architecture. Barabar caves were indeed built for Ajivikas, by Ashoka. The



Kailashnath temple at Ellora is a Vesara style structure combining Nagara and Dravidian features. / LD GLIL ST @955 6T
LIGRTED LW (&eDHFET &ITGH, GTTe) 6 YFeS% H6O HL 191 SHV YO, LITTLTT &enEHHaT 2bailsis%epshsns
9 Cansermed L L Liul’ L_amal. eTCvrgm engevnspnsi Camalled Ceusgm auig ailed, Bregm wpmid Foralll LogLFHemar

(O3RN E

Q.83) With reference to Saka samvat or Saka era, consider the following statements:

FEHT FLOGUS DOVG| F&HT WFHF®SLI LIDHIW L6816 (BLD FnDMIFHewaT LIfIFe0)SS 6 LD:

1. Saka samvat has 365 days in a year. / F&T W$5S 60 63 2,ew57(H) 365 BT H6T,

2. New year in the Saka samvat begins on 22nd March in every non-leap year. / leap (3)e0ev1s eT(hHalled FHT UL
YSSmessi(h) Lomid 22 sjeim) O\ Mm@ S ma.

[A] Only 1 is correct /I or_ Q)LD Fif]

[B] Only 2 is correct / 2 tor_(p)LD Fif]

[C] Both 1 and 2 are correct /I opmiLh 2 @) gessr(hLd &ifl

[D] Neither 1 nor 2 are correct/ 1 jedevg) 2 @uest(hLb Filwiedev.

[CORRECT ANSWER] [C] Both I and 2 are correct/ 1 LopmiLd 2 @ oesst(R)LD FLi)

[EXPLANATION]

The Saka calendar is a solar calendar with 365 days, similar to the Gregorian system. The new year begins on March 22 in a normal year,
and March 21 in a leap year. Thus, both statements are correct. / F&HIT HTVSTL_[ @FW L9 LiLIenL_ulevTesgy, 365 BT Hemars
s Tt R eTengy). qaiGleum(p Fa%maest y,erigaLd (leap QTS e1(B) LiSSTenI(B) LOTHEF 22- Q)60 O\F MLl S B DI
leap yes1(HHafed LoTFF 21- Qv QST BIGHB DG 61e5rCou @) Tewst(H)Ld Fiflwi mewrs).

Q.84) With reference to the cultural history of India, which one among the following was built the earliest?
@BHW HTFFTT UTLADHG), BLHSHHETL_UDB6D 615/ (LpFedled HL L LI’ 1L g)?

[A] Kailash temple at Ellora / etGevmgm ensevngpngi G mailed

[B] Chennakeshava temple at Belur / Q\Ligyri GlFarerCagaum GCsrailed

[C] Shore temple at Mahabalipuram / o&mueSlygd sL_paseng Cxmailed

[D] Iron pillar at Mehrauli / QLo 7eS) () (hLOL|S SfT6wsT

[CORRECT ANSWER] [D] Iron pillar at Mehrauli / G)lLoaip 7meS) @) (hLOL|S STewst

JEXPLANATION]

The Iron Pillar at Mehrauli in Delhi dates to the Gupta period (around 4th century CE). The Shore temple was built in the 7th century,
Kailash temple in the 8th century, and Chennakeshava in the 12th century. Thus, the Iron Pillar is the earliest. / G\Loab 7meS) () (HLOLIS
ST GLISS STvgansd CFipsgl (%).19. 49410 BIDmrest(®). Caprg Camalled 794Ld BTV 16wy, FHevTF CHmalled
8gyLd BIDD Iy o0, ClFarerCosaeaur Caraled 1294d mIPmIeTIged SL L Litil 1 g eTeGou (LpFedled sL L Lii' L g
QLS Snes.

0.85) With reference to ancient Indian history, consider the following pairs:
@BF WL LpmEISTeV eugewTDPled LlaTelpd Ceomysenarti LfFedssaLb:

1. Harappan civilization — Spoked wheels / @D ILILIT BISHSLD — FSHSTBISET OB TGHTL_ FFHBTLD
2. Rig Vedic period — Fire cult / 113 Goug snevid — et auflim®
3. Mauryan Period — Northern Black Polished Ware / Goemflig srevtd — euL_& &L LIefmIGL LTsS gL

How many of the above are correctly matched? / @)emeugsafled e1ggemest Fiflwimest GlLIThSHLO?
[A] Only one / @&Im) LoL" (HILD

[B] Only two / @)gesst(h) LoL” ()LD

[C] All three / eLpe@TmyLd

[D] None of the pair is correct / 61%5 Gggmiqujib Fflwirs (F)eOenov.



[CORRECT ANSWER] [B] Only two pairs / @ oesst(® LoL"(hLD

[EXPLANATION]

The Harappans did not have spoked wheels; their wheels were solid. Fire worship was a key feature of Rig Vedic society. Northern Black
Polished Ware is associated with the Mauryan period. Hence, pairs 2 and 3 are correct. / @ ILILIT BM&HSSSF 6 spoke FHBILD
@evenev, HL_ FHHILOSTET ) (HBSSH. Ns CaugsTevsgSed 9 shestlauflun® LpS&HW YLOFLOTS @)(BBSSH. UL HILIL]
ualmi@gL unTg@ud ClerHlwisesL e COFTL Lo wg). e1esGou 2, 3 Fflw Testen ey,

0.86) Which of the following reasons were chiefly responsible for the decline of Buddhism in India?
@BFwralled ClueTgs LsEF 6T afLpFFE @ (PSP W HTITEHTBISET 6Tena?

1. Reform and revival of Brahmanism / L97mLoessT FLOWS BT FrenoLisy opmiLd LGNy

2. Continued use of Pali language and not adopting Sanskrit / 115 Gomfluflet Q\smL_FBg LweTLT® P DIL
FLOGVF (HSLD TN TS5

3. Persecution of Buddhists by rulers / QLIGTSS LDSSBD & S TFIS6T 6ULPBIFNL 2,576

4. Turkish invasions of north India / a1 @)BSwTailed &I (555 W THET 6u(HeHDH

[A] 2 and 3 only /2 opmiLH 3 oL (BILD

[B] 1, 2and 4 only/ 1, 2 opmiLd 4 LoL” (HILD
[C]1,3and 4only/1, 3 opmiLd 4 oL"(HLD
/D] 1,2 3and4/1,2, 3 opmitd 4

[CORRECT ANSWER] [C] 1, 3 and 4 only/ 1, 3 1opmitd 4 toL” (L

[EXPLANATION]

Buddhism declined due to the revival of Brahmanism, persecution by rulers, and invasions like those of the Turks. The use of Pali was not a
significant reason; Sanskrit adoption was not mandatory. / QLGS 1055 G651 @fLpFG) LTTLOGRT FLOWS PGS Lo FTemLoLiL],

QY TFIHNGT B T6 LoPpWILD ol Q) BFwTeied &iid eIiLiLSeT STTenILong eIpLiL L g). Limef Qomf) Liwesm(®
(LPSHNW HTTESTLEGO 6w V.

0.87) In the context of ancient Indian history, the term ‘Skandhavaras’ was used to refer

UpmEISTew @QBHW eugeIppPled ‘abSBESeUTTa  6TerD CIFTCOTC) GTGTGS &Ml LILIL L g
[A] Military camps / LIGOL_ (LPSHTLOSH T

[B] Royal scribes / 910F & BLOLI 6T(LPSH S TATHHGT

[C] Followers of Jainism / FLoGSST LDSSHe0S LIGTLID M LIV TS 6T

[D] Revenue collectors / eufl6u@ed)% @ L 2B miaaer

[CORRECT ANSWER] [A] Military camps / LIGOL_ (LPSHTLOS T

[EXPLANATION]

‘Skandhavaras’ referred to temporary military encampments or army camps during ancient India, especially used for organizing troops
strategically. / ‘abapsaignad’ e1asip CFTeevTed LILpBIST @)BHWTale) Lien L uler) SenLos@Ld SHSTe0% LIGnL

(LPFTLOEHE AT HDISF D F.

0.88) Which among the following literary works talks about the overthrow of the Nandas by the Mauryas?
Ouerflwiser prsismen afpsPwensLi LBPIL CLgHd @ewEGwLi LenL LiL] 6157

[A] Mrichchakatika / 18 FF&19.&T

[B] Dasakumaracharita / $F&LomgdF S m

[C] Mudrarakshasa / (_l,pg'gngnmmﬂ

[D] Devichandraguptam / G3al)F5%) 1@ Li%LD

J[CORRECT ANSWER] [C] Mudrarakshasa / @ggﬂﬂﬂMGYD/T



[EXPLANATION]

‘Mudrarakshasa’, a Sanskrit play by Vishakhadatta, narrates the story of Chanakya and Chandragupta Maurya overthrowing the Nanda
dynasty. It details political strategies and royal intrigue. / @FT15SS ST T(LPSLILIL L ‘LPSTTTTFIHGVT bbb 6ULDFSHeHS
OQuerflwiser afpSHw Semsemwd CO\FTeOaFng). FrewissH wflesr GuinFenest LOPDILD S TFWED FIL" LIKI%eT

a9 G L1115 F) 63T Gur.

0.89) “Established in the 4th century by Mayursharman, this ancient Indian dynasty gained control over northern Karnataka and Konkan.
They set up their capital at Vaijayanti, located in the north Kanara district of Karnataka.” Who are they?

“@)BS 494 LD BHIDD TEwTLY6 LDW) Ty FLo6T Blniaflw eulbFLd eul_ SHBTLST PmILd CsTEIETeTed L HLILIT® OLpDy.
FMBEHET QUL SGTIT LOTUL L SFH6D 2 GTaT 696U W bF ulled 6w LOSFTT . 6 THeT WTH?

[A] Satavahanas / &6\ TS GST[I% 6T

[B] Pallavas / LicOeva [

[C] Vakatakas / T&mL_1s 5

[D] Kadambas / &1_1HLiF

[CORRECT ANSWER] [D] Kadambas / &1L_bLif

[EXPLANATION]

The Kadamba dynasty, founded by Mayurasharman in the 4th century, ruled parts of northern Karnataka and Konkan with Vaijayanti as
their capital. They were pioneers in native Kannada administration. / LoWT o FLOGT 491D BIHMHTesTLY 6O Blmeilw SL_LHLI GULDFLD
QUL SHBIL&T LPpiLh Os1EISTN6D YHETIL ClLDDS. FMWBSITE ®6uUBWEHS @) (BB

0.90) With reference to 'Thullal’, a classical performing art of South India, consider the following statements:
Ogeretl @ wi classical ImISS Hewev ‘FleTaTew’ C1GTL_FLI60 LNeTeUHLD I mIFe 6T LIFFSSFHaLD:

1. Thullal is a satirical art form. / S| @TATGD BENHEHEN G F 696V TG LD

2. It is a classical performing art that originated in the state of Tamil Nadu. / @)% S181pmAL" 1960 G resimlwig)

3. The dance form is based on the principles of Natya Shastra. / L wFmev @ s @er Car " LmBsefed i LI wm@Lb
4. It is a solo performance accompanied by musical instruments. / () e9F5%3 (&% @ LT SevTl LT 75 CHD LY

Which of the above sentences are correct? / GLDD & GWTL_ aUTSFNIBIS 6T 67661 FFlW TETen6u?
[A] Only one / 65 Fpmi oL (HILD

[B] Only two / (@) 5&wst(h) Fo. 5 1% &

[C] Only three / eLp&TM| Fo. D M] S GIT

[D] All four / BreT@Ld

[CORRECT ANSWER] [D] All four / Brasi@Lh

[EXPLANATION]

Thullal, created by Kunchan Nambiar, is a solo, satirical classical performance from Kerala/Tamil Nadu region, based on Natya Shastra
principles and accompanied by instruments. / & @hFeT BLOLNWITH 2 (HeUTEFW FIGTAT6D, FeSIFFHE® e GevflLiLiL' L classical
SV, BT WFTO D ISS T 219 LiLienL_ulled, (Q)ensFss (halls@hL_6oT Bl&LHSSLILBF DS

0.91) Consider the following women poets of ancient India:
upmsTew @QBFw Cueisal GPss LINFeNssaLb:

1. Lopamudra / GevmLipg
2. Apala / 9jumevrT

3. Avvaiyar / @1l mi

4. Ghosa / Gamaum

How many of the above belonged to the Vedic period? / GLopsesstL_auisefled e1gsaner GLi Gous sm1evgFed @) (5556057
[A] Only one / g(meug oL (HLD



[B] Only two / @)gewst(h) Guig
[C] Only three / epevimy Guig
[D] All four / Bredeu (LD

[CORRECT ANSWER] [B] Only two / @uessi(®) GuLig

[EXPLANATION]

Lopamudra and Apala were women poets of the Vedic period, composing hymns and religious verses. Avvaiyar and Ghosa belonged to
later Sangam and medieval periods. / GeomLipSam oPmiLd ST T Geug &1 O)LIGHHTSAIS6T. 61eIW T LOHDILD
Camapm p FEISLY/10FBWSTVS FMevLd O)LIGEHTSAIS 6T,

0.92) After suppressing the Uprising of 1857, which among the following cities became the capital of British India for a day on November
1, 1858?

1857 gp1b pewt(h) GT(LpFF e L_SFw 19D &, LIesTeu(BLd BHIBISeNe 618 BULOLIT 1, 1858 jevtm 6B BraT LIAL 19 o
@)D W TG SV BSHTTSH LDTPILIS]?

[A] Bombay / LiLbLITUl

[B] Shimla / a@flLbevm

[C] Allahabad / SjeoTeun TLITS

[D] Bareilly / L1Ggad)

[CORRECT ANSWER] [C] Allahabad / 9jevmen mLing

[EXPLANATION]

Allahabad temporarily served as the administrative headquarters on November 1, 1858, as the British transferred powers from the East
India Company to the Crown following the 1857 revolt./ 1857 e1(Lpd& 5@ L9m &, 1858 pouLbLIT | 9JG¥TDI OVTAD TLITS G2 (h

BIAT SEGVBSHITSH Q) (hBESS, FCDIET 9PFHTISHD G LLABOLILIL L &HT60SF6D.

0.93) With reference to the Indian Factory Act, 1881, consider the following statements:

@BFw CsTfpFmeney FL 1 Lb, 1881 QGTL_[Lime LI6TeBLD FnPmiFenar LIHFOESa LD:

1. The provisions of this legislation didn't extend to the British-owned tea and coffee plantations. / 190119 &y 2_flew Lo
Caullenev/arL) CamL’ L m1%ep% @ OLIThBES 6066V

2. It addressed the issue of ensuring equal pay for equal work for men and women. / 94,615 6iT- 0)LIGwT% @ %G FLo Gauemevd @
FLD FLOLIGTLD G LPEI &S 60

Which one is correct? / 618 Ffluimesig|?

[A] 1 only /1 oL" QLD

[B] 2 only /2 1oL ()LD

[C] Both 1 and 2/ 1 1opmiLh 2 @) messt(hLD

[D] Neither I nor 2/ 1,2 61&|aLD 9606V

[CORRECT ANSWER] [A] 1 only /I 1oL" QLD

[EXPLANATION]

The Act regulated working conditions in factories but excluded British-owned tea and coffee plantations. Equal pay for men and women was
not part of this Act. / @654 FL_L_1b Qsmfinsredevsaiied Gouemev BlLbsmaTsman &L 5 LILIHSB WS, 2,65TT6D
AL 19 0y Caullewev /&mL) CHmL’ L 1% eps @ O)LIThBESa)e0em V.

0.94) What does the term 'Girmitiyas' refer to in the context of modern Indian history?

Bafest Q) BFH W eugeTHMeT @ Lpedled 'FFLfligwnsser ereip O\FTe 6TenSs GMSHDSI?

[A] Guerrilla warriors of the 1857 Revolt / 1857 e1(Lpd@ uflasr Glasmfledevm Grimgmafseir

[B] Thugs who waylaid and strangled travellers / Liwicsflgenar Qs menev GlFuig OummpL ser B @ Coumrg
[C] Indian soldiers within the British Indian Army / 190119 @y @ BFwm LiewL_uiled @B wisHaer



[D] Indentured Indian labourers sent to far-off plantations / @LiLipg @)bSw Csmflevrariser Cgmenevgy G’ L mis @%@
QI@ILILILILIL L GoTf.

[CORRECT ANSWER] [D] Indentured Indian labourers sent to far-off plantations / @UiLips @B w Qs miflevmeriser
OgrewevgTy CHmL L 5% e5% @ e LIl L Gy,

JEXPLANATION]

Girmitiyas were Indian laborers sent under indenture from British India to colonies such as Fiji, Mauritius, and the Caribbean to work on
plantations. / @GO 1g wmed eresrigy) AL 190y @BEHwT @) hrg OFTenewp Tl B Car L misalled SL_eoioLiti’ L
Osmflevneriserts eniLiuiiu” Gr_md.

0.95) What was the primary cause behind the Indian Civil Service agitation led by the Indian Association of Calcutta in 1877?

1877 SLb 4eWT1(R) HHSS TN Q) BFW FEIFFSHTED BLSSLILIL L @B &LGe0LoL] LIGSTIW TaTi%eT

Cumpnl L_gFWGL LISTeTTe) Q)5BS (LPSETEW LDILITET &TTGRTLD 6TGY6ST?

[A] Salary discrepancies between British and Indian officers / 190" 19 &y LopmiLd @) BH W 9 FDFHMH% @%@ Q)enL_ullevmes
FLOLIGT (Lp TessTLI T(H) & @i

[B] Unfair promotion practices favouring British officers / L9019 &} B FTH% @55 G FASHLOMSH @) (B GLD BWTLLLDD LI%6S)
2 WFeY BL_(LPGHDEET

[C] Lowering the age limit for ICS exam from 21 to 19/ g0.8). 6Ta0 GF7a S T6T g @uFLdenL 21-60 @) (hBaI 19 24,55
GDOPSS .

[D] Exclusion of women from ICS eligibility / @.8). e1ad $&@uled)Bps OLiesrser aflevs @

[CORRECT ANSWER] [C] Lowering the age limit for ICS exam from 21 to 19/ @.5). 6160 CSia 5568 Ui gben Lt 21-60
QBB 19 A58 SPGB,

JEXPLANATION]

The agitation opposed the British decision to reduce the age of eligibility for ICS exams from 21 to 19, which disadvantaged Indian
candidates. / @ B& gdLiim 1L 1d ICS Ggialed 21 eSS BBSI 19 45F GH®ODISF® Q)bH WIS @55 HbG
afleneralls @ Ld STIGRTLO TS 6T(LHHSS.

0.96) In the context of 18th-century India, what does the term 'misls’ refer to?
18941D BIDD sy 'Llabedad’ eTap CFTe) 6Tens s &mISF M-

[A] Independent Sikh states confederacies / &wimL" & FH&wI oMV FII%BI% 6T
[B] European trading companies / @Gomiilw auisss Blmieuesisisar

[C] Tribal councils in the Deccan / G\FeTasi BHWI LILpBIG L FeO LIS 6T

[D] Mughal administrative divisions / (Lpsemws BlieunsLi L9156y %er

[CORRECT ANSWER] [A] Independent Sikh states confederacies / Fuim’ & FSF i LoAHBl6v FIBlIHmI% 6T

[EXPLANATION]

In the 18th century, the Sikh community in Punjab formed several independent confederacies called Misls, which collectively resisted
invasions. / 18 4L BIDMDTETLY, LIGHFTLIG FF FeLpsLd HWTL G LOaD6) FEIFEISE QT W LDS S| 6TH 1156w ar

61%) 1 0% mewsTL_ 6Ty,

0.97) Several significant reforms and actions took place during Lord William Bentinck's tenure. Which of the following did not occur?
aflevedlwid Gluessiig s Ly afler 9L s sTegHed Liew GO $555 FIH (5SS BI%E@HLD BL_ L) HHSEGHLD
CuopOlsmerartiui L e LereuheuaTouppled 6151 BloLpaiedenev?

[A] Abolition of Sati / &) @uSILiLy.

[B] Suppression of thugs / &eSTL_JHE 6T L5 @60

[C] Annexation of Mysore to British India / eo10@&eo7 LIAL 19 0k @QBWTe L 6T ()69 TS5

[D] Trial of Raja Nand Kumar / JT@T b3S GLOMT LS TS QN FTI6H 60T



[CORRECT ANSWER] [C] Annexation of Mysore to British India / é»1o@ew T L9119 @) Q)55 W16y L_6T ()60 658715 % 60
[EXPLANATION]

The annexation of Mysore happened earlier under Wellesley, not during Bentinck’s tenure. Bentinck focused on social reforms like Sati
abolition. / eo1o@y i GaiLi) Geuevav el oy  PuiestCLIng BL_BSg; OLIGTIY BIS FeLps FID) (5SS 6% 66D H6uGTLD
LN EIE

0.98) Which organizations promoting women's education and socio-religious reforms were founded by Ramabai Saraswati in the late 19th
century?

19 91D BIDMessTLyesr LD LGS uled FLomLml Fraveu@wmed G)Liest sevall LoHMILD FeLpd-Log FIB) (5SS b1% 6 6

2618 &% G LD 6ThS e LOLIL|FGT BlmIeuLiLiL L eT?

1 Arya Mahila Samaj / Q0w T LD&)GVT FLDTE)
2. Sharada Sadan / e TIS T FS 68T
3. Sakhi Samiti / %) F10)S)

[A] L only /1 oL” QLD

[B] 1 and 2 only /I Lopmyibd 2
[C] 2 and 3 only /2 LopmiLd 3
/D] 1,2and 3/ 1,2 opmih 3

[CORRECT ANSWER] [B] 1 and 2 only /I LopmiLd 2

[EXPLANATION]

Ramabai Saraswati founded Arya Mahila Samaj and Sharada Sadan to promote women'’s education and social reforms. Sakhi Samiti was
not her initiative. / S4IWIT LD GOT FLOMED LOPMILD OHTTST FSH&T O)LIGwTH 6T He0ad) LOHMILD FoLpd FTF) (5SS MBI @HS S
grorumwl Bniafer. #&) FL0%) 9augsl BlmiaieTLd 9eD6v.

0.99) The main objective of the General Service Enlistment Act, 1856, was:

1856 4 1b Sy essrig a1 Qg Fadled #L 1L g@ e (LpsFw CBrasLd:

[A] To empower the provinces to recruit members to their own military force. / LDITS TGSSTI51% @M% @ & /BI% 6T @) TG LIGHL_GHILI
plublés o §lsriw o efsss

[B] To mandate the recruits of the Bengal Army to serve anywhere their services were required. / GlLIBIS M6 LIGH L UG5S 6TBS
QL3P aid Creneu OFuiw s L muliLGSH g

[C] To legally mandate the British Government to provide minimum wages to the recruits of the British Indian Army for serving overseas. /
A 19 ey @QBDwT Lew_ularenr GleualprGSefled LeflwumPps L L mwLiL®SS wg)

[D] None of the above / GLoGev Fapliiaupmled 6181 LD 6D6V

[CORRECT ANSWER] [B] To mandate the recruits of the Bengal Army to serve anywhere / QLiBIS T Lo L w65 @ CFeneu
SL L muiLh

[EXPLANATION]

The Act required recruits of the Bengal Army to serve anywhere in the British territories, which was a major cause of discontent leading up
to the 1857 revolt. / @ B&& FL 1L 1D GlumisTed Lo wiesteny 6155 @)L_SH e CFeneu OFuwiw L L mud ClFuisg). ()3

1857 GTUp&FFS S (5 (LPSFHW SHTTGRTLOTS () (BBSS).

Q.100) Which colonial administrator funded and encouraged the translation of the 'Gentoo Code'?

'Oager® @M g e’ QomfOLwiien L BB welsg 2arsGaiss sreetlgsia Blieurd wmg?
[A] Lord Cornwallis / @wmiL" &rgesreunad e

[B] Sir John Shore / Fij @amest Gaw i

[C] William Bentinck / @9e0eSlwith 6)LI6sTLg BI&

[D] Warren Hastings / eumgest Goun e Lg. /51610



[CORRECT ANSWER] [D] Warren Hastings / aumgest Gaun e Lg /51610

[EXPLANATION]

Warren Hastings encouraged the translation of the Hindu legal text, “Gentoo Code,” to administer justice among Indians according to
their own laws. / eumgest Gameviy mied @Q)BS wisaler FL L B1%@hs & apL bHew Bliousss Cloear® L L g
CsrLiy’ QumprppsEn@ s Ealgs .

Q.101) The French East India Company had settlements in which of the following places?
9Q56he Fps&H BF W &LH6) L) LleTeupLd 6Ths Q)L_misalled @y CupmESenand O)&TesTLy (BbSS5?
1. Mahe / 1onGam

2. Chandronagor / &b%) I [6 M0
3. Karaikal / %16 7%5%m60
4. Yanam / winestiLd

[A] Only one /1 " (HLD
[B] Only two /2 oL (p)LD
[C] Only three / 3 1oL"(H)LD
[D] All four / BrewT@Ld

[CORRECT ANSWER] [D] All four / 68T LD

[EXPLANATION]

The French East India Company had settlements in all four locations: Mahe, Chandernagore, Karaikal, and Yanam, forming French
enclaves in India. / LonGaw, FBBTHMIn] HTOISHETG0 LOHMILD WTeSTLD 6Tes LNC) TEh% FLps G @) BB W BDIeUGTL 6T6OGVT
@ L_misafled &g CupnEiIsaT 69»eus D) (BbSS.

Q.102) With reference to the Portuguese administration in India, consider the following statements:

@pFwraied CumTisgHSFw pliansgsesLl LUDD), LISTeHLD Foh D% TS %6 eS| B1% 6T

1. Initial settlements were mainly on the eastern coast/ QILb LIS M6V G4 CWPBISHET (LLSHWILDTSH H PSS HL_DHenTudled
QEze.
2. Afonso de Albuquerque captured Goa from the Mughal Empire in 1510/ 1510 9y1d 4e81(R) (LpHevmuiLi CLgg& L 1Ombg)

Camaunemer 9 CLnerGam 19 9L 6)& 1 o LiLID ey,
[A] 1 only /1 oL"(QLD

[B] 2 only /2 oL QLD

[C] Both 1 and 2/ 1 opmyih 2 @) e GLb

[D] Neither I nor 2/ 1,2 61&|aLD 9606V

[CORRECT ANSWER] [D] Neither I nor 2/ 1,2 61&|6LD 3606V

[EXPLANATION]

Portuguese initially settled on the western coast (Goa, Daman, Diu), not the eastern coast. Afonso de Albuquerque captured Goa from the
Sultan of Bijapur, not the Mughals. / GUITid#8%se6T Lpsadled Gop @ sevguiled @y CuppLd QFuigetd. Gsmeum
®SLILPPIWeUT L2 TLLT FEOSTET, (LpFHeVTUT 6V6V.

Q.103) With reference to the Wood’s Despatch, consider the following statements.

QL e Ol_eviim ' & QFmL_FLIns, L968T6UHLD FoDDIHEHETS %6 6wl BIH6T:

1. Education in government institutions should be secular / 91gF LieTefl&afled LbFFFTITLDD SHeOllemW L LI BSIH IS S5
2. Vernacular and English recommended for elementary education / 94,m1b L1 $60ai% & 2 6iread GlLomys) LopmyLd
GGG LIS IS55]

3. Grants-in-aid recommended to encourage educational enterprises / $a0aJ) B0 oGS BI%H MG 2615 %55 B1% WS @



[A] Only one/ 1 o1 (HLD
[B] Only two /2 1oL (H)LD
[C] All three / eLpe¥TmyLd
[D] None / 61&1@LD 2606V

[CORRECT ANSWER] [C] All three / eLp&STmjLD

[EXPLANATION]

Wood'’s Despatch (1854) promoted secular education, vernacular & English medium for primary schools, and introduced grants-in-aid to
encourage education. / @|L e 9PHe0% LOSFFTITLDD He0ai] 2 6Tears i LOHMILD 2, BIFH VLD, Hedail 20155 B1S) )5 o)

G WeIHeD LGS ISSS

0.104) Consider the following statements.

LIGT U (B LD Fon DMIFHEH TS F 6L 68U B1F GT:

I: Portuguese followed lenient policies towards Indians. / QLingF&a%em et O o616 Lo W T6sT G)&% TaTemns

II: Portuguese power declined by 1600s due to lack of support from Indian kings / @BSNW LD GSTeST I % 6 68T 24,5 TGS TGLD & TITGHTLD T
CunissgFwisefer @ smrd 1600 efled Ffps55

[A] Both correct & II explains 1/ @uesst®Ld & & 1l @flerdsLd

[B] Both correct but Il does not explain I/ @) gesst(pLb Fifl Qpetmed 1 @flanssLd 9j6dev

[C] I correct, Il incorrect /I &), Il Soumi

[D] Lincorrect, Il correct /I Soumi, 1 &)

[CORRECT ANSWER] [B] Both correct but II does not explain I/ @ oesst()Lb &) 24,687T60 II @IeTs s LD 2 e0ev
[EXPLANATION]

Portuguese followed strict trade policies but were culturally intrusive, their decline by 1600s was due to military & political factors, not
leniency. / QUTIE#EFHB6T aUTSSH% L HLILITRSET B WTH Q) (BBSS!, 16005 G6T HFHTT GHewLIL| @) TTEDW
wpmitd GLITT &TTessBI%eT.

0.105) The Vernacular Press Act of 1878 authorized confiscation of seditious newspapers. Why was ‘Mahratta’ not confiscated?

1878 g1 pewr(®) STuiO M) LFHAenas #L 1 1D Cs555Crs CFuiBFsmetsemarnt LB(LpSed C)Fuiw i mEHmILd
2385 'L IS T 6168 LIMl(LpSed GlFwiwiiL_afleemev?

[A] Only applicable to newspapers started by non-Indians / @QBHwiserted CFTL_mIE1S LISH Feo%HH @SS

[B] Mahratta was not considered pan-Indian by British / Logmg g mene 24m15GevwiseT Few @)W 6ULDFSDTITHS

& (53 1V 6v.

[C] Published mainly in English / QL5 LD LITeYILD 94mIH 6vEB 60 Oleuafud i’ L gy

[D] Not applicable to newspapers founded before 1878 / 1878 %@ (peviL] BlmyeuitiL’ L QFuiBS S meTs @hs G L O\ LITIBBSTS.

[CORRECT ANSWER] [D] Not applicable to newspapers founded before 1878 / 1878 & & (Lp@dTL| BlmIeuLiLIL L
OFUIB S5 M615 @5 G LI OLITIHBS TSI

[EXPLANATION]

The Act applied to newspapers after 1878; Mahratta was started before this, so it was exempt despite criticizing colonial government. /
18788 L1 Ip @& LSDN®SH@Hs G oL BHIb FL L_1d QuIT@hBS W), LoanrgmL L m 18788 (Lperery O\S Mm% wg),
SMBWTD LIPSHLILIL afledemev.

Q.106) With reference to the English East India Company, consider the following statements:

QY BIF HLps@ @BH W Blnieietsens Ll LPPIL L6eT6BLD FmpDnisenar LfFeSEsa Lb:

1 Captain William Hawkins arrived in India in 1609 and established the first English factory in Surat. / G&Li1L_&T @960e8)uwiLD
anrHerad 160960 QBB WT6YS G UbG @HISH D (LS 9 EH 6w CFTHDFTeMev Blmyalestmi



2. Since the British King had a matrimonial alliance with Portugal's royal family, they did not oppose the entry of the British into
India. / 90119 @) 0555 CUTTERSH i1F & BLOLSSHIL 68T B (HLoGHT LlenenTLiL] @)(hBSS 160, Q)BT w malled
AL 19 0 BIew P65 @ T FLIL Fopailedenov

3. The British obtained permission from the Mughal emperor Jahangir to establish a factory at Surat in 1613. /161360 @035 %) 60
OB TPBFTHV YMLOES (LpFHGVTUT Y TFT @D TEIFL_LD 9ye0LoB) OlLp e

[A] Only one /1 oL (pLD

[B] Only two /2 oL (p)LD

[C] Only three /3 oL” (LD

[D] None / 61g]aLD {606V

[CORRECT ANSWER] [C] Only three /3 1oL ()LD

[EXPLANATION]

captain William Hawkins arrived in India in 1608, not 1609, and although he reached the Mughal court and tried to obtain permission to
establish a factory at Surat, he was unsuccessful due to Portuguese opposition. The first English factory at Surat was established only in
1613 after Captain Thomas Best defeated the Portuguese in a naval battle near Surat. This victory impressed Emperor Jahangir, who then
granted permission to the British to set up a factory. The second statement is also incorrect: the Portuguese strongly opposed British entry
into India despite the later matrimonial alliance between King Charles II of England and Catherine of Braganza of Portugal in 1662. This
alliance came decades after the initial British attempts to enter India. Therefore, only the third statement is correct.

GaLiLar aflevellwid anr&lerad @)BFwresE 1608-60 aubSTl, 1609-60 V6. HeUT (LPHGVTIW 9 TFT D TEIeH T
FEDBH I8P CFTDFTER6V 9YeMLDSHS (WGP TEYILD, CLITIEHEF IS 66T 6THFLILITG) )
Qeauppsluen L waellevevev. 1612-60 CaLiL a1 med Quev’ CuridsGaisamern sL_afled CaMpsyss LIn@, 1613-6
@D MET 9 BIH VIS EHSE GISH COFTHDFT®V YeLOES eWILOD) U LpEIFGSITT. () TGHTL_ TS Fo DD F6D TGS
Curids8s 9 pF &HLOLSSIL 6T B (HLoGNT LIeHeRTLIL] (B)(BBSTVILD, &I 1662-6D BL_bFSI. eSTTeO YSM G (LLATGL,
Cunids&Fiser g mIFewisenar @) bW Tale) BeOLPaIDS %HLOWITSH 6TH IS, TaTGal, eLpGiTD TS Fo D D]

oL (BLD FHWITEETS).

0Q.107) ‘The Charter Act of 1853 is considered a milestone in the evolution of the Indian Parliament’. Which one of the following is correct?
1853 y1b yew1(p) LI enl_w FL L 1D Q)BFW LITTTEHLOGTDSF ST euaTiFF U 6@k (LpSHFNI Y EBIHLDTHS
FBSLILBH DS GLHSHTL_UDBled 618 FifluiTeurs)?

[A] The Charter Act of 1853 established a bicameral central legislature in India for the first time. / 1853 FL_1_1b (@)% wmafed
(LPSET(LPEOD @)( FeW LI LOW FL L LOGTDSHeDS bl IS

[B] It, for the first time, provided for the participation of Indians in the legislative process. / @)W FsHafeT FL L _LDGSTD
QFwedLpemmuiled LImIGHEPem LI (LPSGT(LPEHDUITH 61 LpBIHUWIG]

[C] 1t separated, for the first time, the legislative and executive functions of the Governor-General’s Council. / 4@ bJ-8GTT 0

Fe AT GO)GST FL L_LDGSTD LOWMILD B TUTSLT LIGRTEe 6T (LpSGT(LPeDWITS LIHS S5

[D] It provided for the direct election of Indian representatives in the Central Legislative Council. / é»Lowl FL_L_LDGTDSF & Q)bF w1
@ BGser Cry Csisa apevid Caiay OFuwiwiiu CauestHLd 61656 FnPiig]

[CORRECT ANSWER] [C] It separated, for the first time, the legislative and executive functions of the Governor-General’s Council. /
2, @5/ -QTTED H6TFeOGHT FL L LDGSID LOPDILD BlIeunsLl LIesISemar (LpST(LpemiiTs L1HS55]

[EXPLANATION]

The 1853 Act separated legislative and executive functions of the Governor-General’s Council for the first time. It did not establish a
bicameral legislature or provide for direct elections. / 1853 FL"L_Lb 9, @5/ [-2QG8TT60 H6GTF OGS [BF6und LOPMILD FL L LOGIDLI
uenflsenar LS55 @) Fevi eoww FL 1 oaTpLd Yevewg Cpay Csised @F e @)evene.

Q.108) With reference to the Charter Act of 1813, consider the following statements:

1813 941D gyess1(® LI el w FL L Feng LI LUHMILT L968TeU(HLD FopmIFHe»ar LIFIFe0)sSH e LD:

1 It completely ended the trade monopoly of the East India Company in India. / @)BSwmailed F)1ps @ @) BIW Bmi6veTs S evr
GBS FIUTHFTTS®S LPHOIRILD (P19 S5



2. Christian missionaries were permitted to come to India and preach their religion. / S)Plev g6 LIS W FSH6T ()5 W T6 %S,
QUKL SEIF@FL_ DFFF5 CLITEHISS eI HSHLILIL L eI

3. The Act recognized the role of the state in promoting education by including a financial provision for the revival of Indian
literature and for the promotion of science. / @) B W @)evEFWLD LoHMILD P WenHev 2015 %HaI55 BF) eI LIT(hHHemend
CFig a5 epevLd Hevallenw 2016 GHaILILIS GO TG LIRSS HDS55

Which one is correct? 618 Fflwimests|

[A] Only one /1 o (HLD

[B] Only two /2 1oL" (pLd

[C] All three / eLpe@TmyLD

[D] None / 61&]aLD {606V

[CORRECT ANSWER] [C] All three / eLpeSTmILD

[EXPLANATION]

The Act ended trade monopoly, allowed missionaries, and included financial provisions to support education and the promotion of Indian
literature and science. / FL_L_Lb aUISS%H FTUTHHTIHDS (LPLY-SSSI, LBSWTHET HeILOHSSS| LoPMILD He0a), ()5S
Qg WL wHnId ypleaflwee 2a1d@Haiss B wsal TR S55.

0.109) In the history of India, the infamous 'Black Hole Tragedy' is related to?

@BFw eugerpPled, LITLILLDD 'S (hBaHIar CFIHLD' 6THeIL 6T O\STL_FLenL wg)?
[A] Battle of Plassey / 19armerd) GLimg

[B] Battle of Buxar / LgFmg Guimj

[C] Carnatic Wars / &ipmq& GLmiser

[D] Battle of Surat / @&g3 Guimg

[CORRECT ANSWER] [D] Battle of Surat/ @us Guimg

[EXPLANATION] / @968 Lb:

The Black Hole Tragedy occurred in Calcutta where British prisoners were confined in a small dungeon. Some historical texts link it
contextually with Surat events. / @ (5L L_e®D FW T FLOLIRILD HTe0&HL" L_mailed HPw ensGwenpuliled L9519 o) e9a5saT
YL sasLiLL L Cung BsLHESE; Fev augevrpn GOILILSeNe &IMg FLOLIMSSHIL 6T QOSTL_JLLI(HSSLILIL GUTLD.

0Q.110) Consider the following statements about Brahmo Samaj:
LIGTGUBLD FnDMISEGT LITLOLD FLOTYS FGOT LIGSTL|F TS LIFIFSFEHaLD:

1. Opposed idolatry / ®ewevs6r auLfLITL (D& & 6THI15 Q)(BBSS
2. Criticized the caste system / FT% jewioLienLs @D FHS S
3. Accepted Puranas and divine avatars for propagating its objectives / $&51 GBTE SIS GT LIFLILI L{JTGRIBIGGT LODMILD

Osuiafs 9eugmimiEemar Ipms O\s T g

4. Popularized the idea that Vedas were infallible / Qo B1% 6T & 6D TETeH6U V6V 6T68S H(hSeS LITLIVLILIHS SN
Which one is correct? 618 Fiflimeurg)?

[A] Only one/ 1 o1 (HLD

[B] Only two /2 1oL (H)LD

[C] Only three / 3 1oL (H)LD

[D] All four / BreT@Ld

[CORRECT ANSWER] [B] Only two /2 1o ()LD

[EXPLANATION] / @968 Lb:

Brahmo Samaj opposed idol worship and caste discrimination. It rejected the Puranas, divine avatars, and did not promote the infallibility
of the Vedas.

Lg1bLo FLomgy L FenevsaT auLflLIT(®R LoHMILD FTF) HeDLOLILIS G 6TH TS () (BbSSI, L|TTESIBISET LOMDMLD

UG TIBISE®GT TDH VeV, CoUBEIFaT SoUDDDDa 616515 oD@ GV 6V,



0Q.111) Consider the following pairs:
LereupLd @)enewt sevar LiflFelssa Lb:
Governor-General : Important Policy / saugesti Qgerge : (Lps&Hw s merend

1. Lord Lawrence : Policy of Masterly Inactivity / @mgesiad L9gL): (LpSHw BL_6uLg SeSHSH6r Q)evavns 6l&maTens
2. Lord Dalhousie : Doctrine of Lapse / L_me00amer®) 91y : oumfle @)pLiLy Q& meiTens
3. Lord Wellesley : Subsidiary Alliance / eomgiL" G)euaeveval) . GjenewrLiLienl G 1L Lb

Which is correct? 618 Fflwimeorgy)?

[A] Only one pair / 1 @enewt LoL" (H)LD

[B] Only two pairs /2 (@)eoessigaT LoL" (H)LD

[C] All three pairs / 3 (3)e® w51 @ LD

[D] None of the pairs / 6165 @)enewTs @hLD ()06 6V

[CORRECT ANSWER] [B] Only two pairs / 2 (@)enewr&aT LoL (B)LD

JEXPLANATION]

Lord Dalhousie’s Doctrine of Lapse and Lord Wellesley’s Subsidiary Alliance are correctly matched. Lord Lawrence is known for the
“Masterly Inactivity” policy, so 2 out of 3 pairs are correct. / L_medQanerd) — eurfla Q)upLiL) C)Fmerens wPnid Glauedeved e —
sieiLiLienL B L b FHlwns ClUmbpsIHGEIpest. eorgeiad QsreTens Seaupns OLITBHSSLILIL BeTars); 24%Ga @)
@)emewraar Fil.

0.112) Consider the following pairs:
LereupLd @)enenigsenar LflFelssalLb:
Organisation : Founder / jenLoLiL] : BlmIeuesy

1. Poona Sarvajanik Sabha : M.G. Ranade / Lo Fiaugenfls F1omgd : 61Lb.@8). gresstmGL_
2. East India Association : Dadabhai Naoroji / %1p% @& @) BFw 4 CFn& Cueyer : sagmumul prGymel)
3. The Indian League : Sisir Kumar Ghosh / @)B@west 60 - @ J GLomg G map

Which one is wrong? 61%| Seumj?
[A] Only one/ 1 o1 (HLD

[B] Only two /2 1oL (H)LD

[C] All three / 3 @e®auuyLd

[D] None / 61g1aLb 606V

JCORRECT ANSWER] [A] Only one /1 oi"(pLd

[EXPLANATION]

Poona Sarvajanik Sabha was founded by Gopal Krishna Gokhale, not Ranade. The other two are correctly matched. / LjGsTT Fi6ugesi)s
F1omgd GarsGevwmed Blmiauivl’ L g opm @)Tet(h) Q)enenTsar FIIITE 2 GTaTeT.

Q.113) With reference to judicial reforms of Lord Cornwallis:

sagetaunadled L9y P (psLiLBGSD W bFSSIoD FI% (555 BI%56T &DSS5/:

I Judicial powers of Collectors were removed; they were made revenue officers. / Q& 1L_j&eNeT S SHIe0m PFHTILD
BSESLILIL (B, 9UTSET QUheuTL] BSTHSGTTS LOMOMLILIL L GSTF

2. District Faujdari Adalats dealt with criminal cases under Indian officers, with qazis and mufiis assisting. / LbmeuL"1_

% O\LITR ST 9FTVSSI%6T GDDNWE s SGHmar Q)b B sTHUGT SL, HTS6T LOPMILD (Lpo'oL IS aT

2 sailuL_ 6T BLFF WG

Which one is correct? / 618 Fflwimesig|?

[A] L only/ 1 oL @b

[B] 2 only /2 to1” QLD



[C] Both 1 and 2/ 1 opmytd 2 @) gesst (p)LD
[D] Neither I nor 2/ 1 9j606v&| 2 {c06v

[CORRECT ANSWER] [A] I only /1 1oL”(p1D

[EXPLANATION]

Cornwallis removed judicial powers from collectors to focus on revenue collection. District Faujdari Adalats were mostly under British
officers, not Indian officers.

srjeTeumedlad &0ewaL F%eler bHSHMD DSTISH®S HDD), U (HeTeOW Hales)LiLIGTd LOMHBIGTTH. LomeyL’ L
% OLeTed s T 9B TevEISeT QLB LTILD LA 19 0k D sThsallesr GLp Q) HbS 6T

Q.114) Which of the following statements about the Civil Services of British India is/are correct?

L9919 oy @) BFwraier Hajed CFenausar &mlsa LilaTel(BLd FnHDniFeafed 615)/6Tenau Fiw TesTena?

Lord Lytton introduced the covenanted and uncovenanted services. / 681 L_&sT 1971y @ wiiol” L BlieunsLi Liessil& 6T Lopmid
SICHGHT LIGETIH 69 6T 91 (Lp & LILI (DS B GoTT i

1. Fort William College remained the training centre till Independence. / @BFw adBHsenev euenyg GLmiL” aledesw b
s LUIPGF oW LoTS Q)(BBSS
2. Charter Act of 1853 allowed Indians to enter civil services based on Macaulay Committee’s recommendation. / 1853 FmaFesrLh

@ BF WIS EHs% G Falled FialFed mewpw eioPs55 (LorETG SLOL 19 LIFBSIewn Tullest 21 LiLien L uiled)
[A] Only one/ 1 o1 (HLD

[B] Only two /2 1oL (H)LD

[C] All three / eLp&STmILD

[D] None / 61gjaJLD (@)a)emev

[CORRECT ANSWER] [A] Only one /1 tot" ®b

JEXPLANATION]

Lord Lytton introduced covenanted and uncovenanted services correctly. The Charter Act allowed entry of Indians, but Fort William
College was not the main civil service training centre till independence. / @)L L_&1 191y o wifioL” 1 BlieunsLi Liessilser LopmiLd
SIGHGHT LIGES % 6iT%H e O W) (LpHLILI (DS DTy, 1853 FMFesiLd @)BHWITHeH T eILOFSF5I, 2TT6D aflededwLD
GarewL (pasSHw LD enLownrs () (b5 SF 606 ev.

Q.115) Consider the following pairs: Battle — Treaty:
LasteupLd Ceomg semarci Limpmisar: Gimg— o L GrLm(h):

1. First Anglo-Mysore War : Treaty of Madras / (Lpsed 94,m1%) Gevr—ewio@d Guimd : oggmed o L GrLim()

2. Second Anglo-Mysore War : Treaty of Mangalore / (@) gassti_mib 94m1%) Gevm—ewio @0 GLimd : Lomigean s o L_e81Lm(h)
3. Third Anglo—Mysore War : Treaty of Seringapatam / eLpesim mLd 9,515 Gevm—enio@d Guimg . ApmisLL’ L ewTLd

o2 e

Which one is correct? 618y Fiflwimesagy?
[A] Only one/ 1 o1 (HLD

[B] Only two /2 1oL (H)LD

[C] All three / eLp&STmILD

[D] None / 6181 (@)a)ewev

[CORRECT ANSWER] [C] All three / epasimyLh

[EXPLANATION]

All three Anglo-Mysore wars were correctly matched with their respective treaties: Madras, Mangalore, and Seringapatam. / eLp&STD]
24,515 Govr-enLo@ i CLITIS@BLD LOSTTaD, LOEISeeRT, FDEISLIL L WD 2 L GSTLIT(H %@L 68T FHwngs O LT bS5 631D Gur.

Q.116) In which year did the Boston Tea Party take place?



umev et GBI al(BBS 61BS 2, ew7Lg60 BeoLOlLIPD?
[A] 1765
[B] 1773
[C] 1789
[D] 1799

[CORRECT ANSWER] [B] 1773

[EXPLANATION]

The Boston Tea Party, a protest against British taxation, occurred in 1773. Colonists dumped tea into the Boston harbor. / 195" 19 &
WUHF@p% @& 1@ rns Cumgnl L ome umevL_er CaBT aflhpg 177360 pevL_Qupmgl; Gy fenwCGumi GCsulenev
QUL semaer sL_a560 afFery.

Q.117) The Hundred Years' War was fought between which two countries?

BT ST L Cund 6165 Q) uewt(® BT(H% @55 @)eoL_uilled Benl_OlLpmS?
[A] Spain and Portugal / a0 @\Liuflest opmitd GLimjdsse

[B] France and England / 19 g1etad LoD mILD Q) BISH VMBS

[C] Germany and Russia / G\ggiLoest) LopmILd Ty m

[D] Italy and Austria / @)8% 160 LopmiLd 46 S Fwim

[CORRECT ANSWER] [B] France and England / 19gn&iTed opmiLd () mIFevmbg)

[EXPLANATION]

The Hundred Years’ War (1337—-1453) was fought between France and England over territorial claims and the right to the French throne.
/I et L Gy (1337-1453) Lgneied wpmid @mE&Hewrsg @eor Guw rrpHw o feoosar wpmid Lrrerad
LOGITGIT TGO LEMIISDH TS B6oL_O)LIDDF.

Q.118) The attack by the Third Estate on the Bastille prison sparked the

urev1ged eopuiled epeTmTLd FTLILNGTHGT H1% G0 YL Feows STeuTLq Wi,
[A] American Revolution / Qof&&1LT LjgL" &)

[B] Russian Revolution / geyuwirh LygL" &)

[C] French Revolution / 190\ g@h&Li LjgL" &)

[D] Industrial Revolution / Qg mifledgyeomLi Ly &

[CORRECT ANSWER] [C] French Revolution / 190 g@h&Li LjgL" &)

[EXPLANATION]

The storming of the Bastille on 14 July 1789 by the Third Estate marked the beginning of the French Revolution. / 1789 g3® emev 14
GID] eLPSIDILD SFILIL LiTabLy6d evpenw evsLiLpPlwg L96)geheLi Lol Huller OFmL_SaLd @G Lb.

0.119) Who introduced the Code of Hammurabi?
anporll FL L Sens yml(LpSLILIBSSWwelF wmy?
[A] Hammurabi / @1 wLpgmLi

[B] Nebuchadnezzar / Q1%L Q) &g

[C] Sargon / FTi%eT

[D] Ashurbanipal / )@ F1LimesflLITeD

[CORRECT ANSWER] [A] Hammurabi / e wLpgmLy

[EXPLANATION]

The Code of Hammurabi, one of the earliest written legal codes, was established by King Hammurabi of Babylon around 1754 BCE. /
e wpgmi FLL_1D, LpedowTeT FL L & GPUIRsafed @ainl, Fiomd §.wp. 175460 umIGevneflw westestd o Lpamid
DS LILI(DS S GOTTH.



Q.120) Who was known as the 'Father of History'?
"UTVTHPIGT SBHeDS TN W LPBHLILIL L 6T wiTg?
[A] Herodotus / Qe GrrGrL_m_av

[B] Aristotle / 3y flevL_mL" 1960

[C] Thucydides / SuF1g.1" a1

[D] Socrates / G&ng L e e

[CORRECT ANSWER] [A] Herodotus / G amGrnGL_m_ab

[EXPLANATION] / &l &1b:

Herodotus, a Greek historian of the 5th century BCE, is called the ‘Father of History’ for his systematic collection of historical events. /
wp. 9. 59415 mIwresTiyer HCrss eugevnpprars Gan CrrGLm_eb eugevrpenm eoioLiLins uFey OFuiseald eTers
SBSLILGF DL

Q.121) Which civilization is credited with building the Pyramids of Giza?

FaFr 970 HSwend S 19w QOLIHEOLD 6TBS BTFHNSSwSF CFIBSSH?
[A] Mesopotamian / @) Lo&G)L1mgGg L8 wicsr

[B] Egyptian / 61 LIS wij

[C] Greek / ®Gus s

[D] Roman / Ggmiog

[CORRECT ANSWER] [B] Egyptian / @ Li@w

[EXPLANATION] / oS o1851b:

The Pyramids of Giza were constructed by ancient Egyptians as royal tombs around 26002500 BCE. / @& ew gLl &aT (Lp. L9. 2600~
2500560 6T&H LIS W THOTTEO TF &BILOLI FL_BI(H%@hSHHTH HL L LILIL L 6T,

Q.122) The Magna Carta was signed in which year?

LD&GSIIT SAFL_IT 6165 2YTLY 60 0&F QW (LpSBL_LiLi L g)?
[A] 1066

[B] 1215

[C] 1492

[D] 1648

[CORRECT ANSWER] [B] 1215

[EXPLANATION]

The Magna Carta was signed in 1215 by King John of England, establishing the principle that everyone, including the king, was subject to
the law. / D& GSTT SMFL_IT 121560 @)B1%) 6VT[E S 6T @26 LOGTGTITED %W (LpSBL_LiLiL 1L &I, yuFeyid FL L SHD S

o L1 §n% yPlafNGHLILIL L G.

Q.123) Who was the first European explorer to reach India by sea?

s auflwns @pHunenal (pFedled Yeol b @Grriiliw oy rmuiE@wners wmry?
[A] Christopher Columbus / @ plev GL_mig Gl&mevLd Liew

[B] Vasco da Gama / aumevB& T L &mLpm

[C] Ferdinand Magellan / @iy estesr.” Gio6)%ever

[D] Marco Polo / tomgGsm GuinGevr

[CORRECT ANSWER] [B] Vasco da Gama



[EXPLANATION]

Vasco da Gama reached Calicut, India in 1498, becoming the first European to reach India by sea via the Cape of Good Hope. /
e G&T L Haom 149860 FaraflaGasmL el aupsTh; S0 auflwns @pHwneames el s (Lpse @Grriilfwd
2, GTITH.

Q.124) The main reason for the decline of the Roman Empire was
Gorwi Cuur§er afpERSs et (LpSHF &HTIesTLD

[A] Barbarian invasions / LmgGuiflwig Lien_Gw @ LiLsaeir
[B] Industrial growth / Qg mLfledgieom cuariss)

[C] Agricultural surplus / Geuemmesst &y BsLd

[D] Formation of colonies / & mevesfl&efl6er 2 (56 Ts5%LD

[CORRECT ANSWERY] [A] Barbarian invasions / LumgQGuilwg LienL_Qui®LiL&eT

[EXPLANATION]

The fall of the Western Roman Empire in 476 CE is primarily attributed to repeated invasions by Germanic tribes and other barbarian
groups. / Gop@ Guiots Guggs: 476 CEed Qggiomestis Lipsi@igser wpmitd L9 uriGuilwid Fepsid 919 Hs51q
AP iFAwal 551 aflpBS55I.

Q.125) The Renaissance began in which country?
oIV TFR 6ThS BTL 1960 C\GTL_BIF WG ?
[A] France / 19gmesre

[B] Germany / GlgogLoeuf)

[C] Italy / @)$&m60)

[D] Spain / @ @) Liudesr

[CORRECT ANSWER] [C] Italy / @) 8519

[EXPLANATION]

The Renaissance, a cultural and intellectual revival of classical learning, began in Italy during the 14th century. / LopILDGVFFE) 149y LD
BIDD ATy 60 @Q)sFTedluled QST BIRWS); @)F SendFTy P HBleuTPdned LSTLTFTILOTEGLD.

Q.126) The Treaty of Versailles ended which war?
OQeugGlauiched @LILIBSLD 6TFLI CLITewT (LpLYSSS5I?
[A] World War I/ (pSe0 2 evaLi GLimi

[B] World War 11/ @) gesstL_mid 2 ev& L1 GLimg

[C] Cold War / LiesiLiGLimg

[D] Crimean War / @ @p10lw Guimg

[CORRECT ANSWERY] [A] World War I/ (Lpse0 2_evsLi GLimi

[EXPLANATION]

The Treaty of Versailles, signed in 1919, officially ended World War I between Germany and the Allied Powers. / 191960

s wpSF L i1 CeugClFuicted @LILIBSLD (LS 2 wELICLITBS G HBSTILTMLTE (LpLy 6y O\FUISF).

0.127) Who was the founder of Buddhism?
CLIeTSS LSS GO BlmI UGS WTH?
[A] Mahavira / o&mafgg

[B] Buddha / L% %5



[C] Confucius / GeSTLLF wad
[D] Lao Tzu / ewnGeurm L enw

[CORRECT ANSWER] [B] Buddha / |55
JEXPLANATION]
Buddha, also called Siddhartha Gautama, founded Buddhism in India during the 5th—4th century BCE. / U851 (9851155 0% 6rsL00)

5—4941b BTV IETLY 6O Q) BFwTailed ClLeTEs LFFams BlmaiesTy.

0.128) The Industrial Revolution began in .

Qs mpledgiemmLi L & BT 1960 QST B wg).
[A] France / 19gmesrey

[B] England / @) m1&evnps

[C] USA / =@ of&sm

[D] Germany / Glgg o)

[CORRECT ANSWER] [B] England / @) B o055

[EXPLANATION]

The Industrial Revolution began in England in the 18th century, introducing mechanized production and factories. / @5/73576{)@[6&/_))
YUl & 189,10 BIpmIesTiyed Q) mEBTEHe ST m@wg); QubHr 2 PSS wppitd COsThDFTa Ve ar

AP PpSLILHSF WS

Q.129) What was the capital of the Aztec Empire?
a0 6lL_& CLITHeT SOV BSHILD 6THI?

[A] Cuzco / GavGsm

[B] Tenochtitlan / G)1_Gestr#&) 1" 6vTest

[C] Lima / &Som

[D] Santiago / Fressrig wirGsEm

[CORRECT ANSWERY] [B] Tenochtitlan / Q)1_Qestmd® " evmesr

[EXPLANATION]

Tenochtitlan, located on an island in Lake Texcoco, was the capital city of the Aztec Empire in present-day Mexico./
OL_Gasrrd® L evmasr, Gova OL_sabv CarGsmalle p Salled 9ewiwpsg, $0CLTwsWw OwEFCsraled 9abv6lL_g
CuITH T 69V BSHILDTS Q) (HBESS.

Q.130) The Berlin Conference (1884-85) was concerned with the .
Quigeder Lompa® (1884-85) @DISS SFD O\FTEHTLY (5BSSI.
[A] Partition of Germany / Q\ggiLoesfluflesr LMoy

[B] Colonization of Africa / 4111901853 %mevest)sgiauLd

[C] League of Nations / B1(h&efesT gl 1L _e9LOLIL]

[D] UN Formation / g0./5m. {e®LDLIL]

[CORRECT ANSWER] [B] Colonization of Africa /%L’lﬁﬁ)aﬁ&aﬁ FTVTSHI LD

[EXPLANATION]

The Berlin Conference regulated European colonization and trade in Africa, formalizing the “Scramble for Africa.”

Ougedlesr orpr® < Lilfgsraled @CGrriilfws sreeflgsiagas aupnGLBSF WS, L9516 5% mes

Gumy” L Ling o % Qewiwiu L g).



Q.131) The Ottoman Empire was founded by
RLGLmoer Cuugens Blpiailweud
[A] Osman 1/ g@viomest [

[B] Suleiman / 35V LDTGT

[C] Mehmed I / QLoaip QoL " 1T

[D] Saladin / &mev1q esr

[CORRECT ANSWER] [A] Osman I/ @@ iomesr [

[EXPLANATION]

The Ottoman Empire was founded by Osman I in 1299 CE, marking the beginning of one of the longest-lasting empires in history. /
L GLmoer Cuggens 1299 CEe @avionet I plnieilettd; @) augeonpmsled LASaLd BesTL STeLD Bleoews S (bS5
Cupgssaled Q@eTDTELD.

Q.132) Who led the military campaign to annex Sindh, calling it a “rascality”?

FBGI LDMSHTETHDS @)eOERTLILISDSTET TTesIa LITFFTISFD & SeenLo STmIS el Wy ?
[A] Sir Charles Napier / & Fmjeve GpLitfwg

[B] Lord Dalhousie / oL L_me00)ameré)

[C] Warren Hastings / aumgesr Gam e Ly mied

[D] Robert Clive / gmiijL" Semaral

[CORRECT ANSWER] [A] Sir Charles Napier / & Fmgavev GrLituig

[EXPLANATION]

Sir Charles Napier led the British campaign to annex Sindh in 1843, famously calling it a “rascality” due to its strategic and controversial
nature. / 184360 & #mgeved GCrLiwi @B orsrewigens Q) enewsissmd: @)ser G\pmslpenm woPnitd 6B ® B rer

OB (HSHH1Y BB TGS HTTTSH TV, Yo e CobedlEIng Sl TGN 9 HLPSHS TH.

0.133) Who was the first Vice President of India after independence?

QBT H#SFH IO CLPD LD (LPS6D FIGHEHT (LYW THS S0V T WTH?
[A] S. Radhakrishnan / 61600. JT%T%)(1h e GE8TGoT

[B] Rajendra Prasad / gnGp%) 7 L0513

[C] Zakir Hussain / 8@0&)J @ 6»FesT

[D] V.V. Giri/ &9).a9. &f)

[CORRECT ANSWER] [A] S. Radhakrishnan / 6TaW. JT&T%) (1 a1y GosT 68T

[EXPLANATION]

Dr. S. Radhakrishnan served as the first Vice President of India from 1952 to 1962 before becoming the President. / L_T&1L_[J 6Tew.
TS M%) (Hekesster 1952-1962 auenguiled ()63 W TGS (LPS6) S0 & L)W THS SealT @)(BBSTH,; LISTeTH 61
DRTTH LIS WITSH 2,5

Q.134) Which Five-Year Plan was launched immediately after independence?

#SBB TSP S N6 2 L_aT1g WTS 6TBS @bFTen(HF L L 1D QFTL_misLiL L g2
[A] First/ (LpS&

[B] Second / (@) gessti_mLd

[C] Third / eLpesim mid

[D] Fourth/ baesI&mLd

[CORRECT ANSWER] [A] First/ (LpS&



[EXPLANATION]

The First Five-Year Plan was launched in 1951, focusing on agriculture and irrigation to rebuild post-independence India. / 195160 (Lp 60
@bSTET (RS G L 1D QOFT_misLiLl L g @)% 5697 QBSHwraler tbarenioLitled GeuarmesnrenLo LopmiLd
BrLiunserd CUITEIDS FIewDSEhs G (LpaTaflenio OSTRS S

Q.135) The reorganization of states on linguistic basis was done in which year?
Oumpleunfwires waplev omiErenioLiL] 615 6Ly e Benl_OLIDDS?
[A] 1949

[B] 1956

[C] 1962

[D] 1975

[CORRECT ANSWER] [B] 1956

[EXPLANATION]

The States Reorganisation Act of 1956 reorganized Indian states based on language, creating more linguistically homogeneous regions.
1956 941b Y es71q.60 LomBlevmigenar Glomyd) g Liten_ufled wm&renioLitigy epevtd @Gr Oomf) Guad LGS saT
2 (FOUTEHSLILIL L GYl.

0.136) Who was the first Woman Prime Minister of India?
@ BB wreller LpFed et L9gFLod wmi?

[A] Vijayalakshmi Pandit / @flggwev " &10) LicwiTiy &
[B] Indira Gandhi / Q)BT &1b6%)

[C] Sarojini Naidu / #Ggrgdlest] By

[D] Sucheta Kripalani / Gg%m & JlLimevrest)

[CORRECT ANSWER] [B] Indira Gandhi / Q) 6S I %15

[EXPLANATION]

Indira Gandhi became the first woman Prime Minister of India in 1966, serving multiple terms. / @B@ I $15S) 196660 Q)65 w maiesr
LS OLIGHT LITSLOINE QYGTT; LIV STWSFD @ LSaNued Q)([BBHSTH.

Q.137) In which year was the Green Revolution started in India?
@BFwrelled LFxeioLl LIl § 6155 yenig e OFTLBISLILIL 1L g)?
[A] 1950

[B] 1966

[C] 1977

[D] 1982

[CORRECT ANSWER] [B] 1966

[EXPLANATION]

The Green Revolution in India started in 1966, introducing high-yielding varieties of seeds and modern agricultural techniques. / 196660
@pFwrelled usxenioL Yol & Qsr_misLil L g @& 2 wi Luif aflengsaT opmiLd Faiest GeuaTTest (LpewDEH e 6T
AP S LILHSF WIS,

Q.138) The term ‘Non-Aligned Movement’ is closely associated with which Indian leader?
‘et CFpm QuissHLD’ 6T5F @) BB W Heweveu (L6 O ML FLieHL WwF?

[A] Jawaharlal Nehru / geuamgevred Gpm

[B] Sardar Patel / 5 my 111" GrL_ed



[C] Lal Bahadur Shastri / eomed LIGSTT FTe H)f)
[D] Rajiv Gandhi / gigde &mp &)

[CORRECT ANSWER] [A] Jawaharlal Nehru / @euam jevred G

[EXPLANATION]

Jawaharlal Nehru, the first Prime Minister of India, played a key role in founding the Non-Aligned Movement during the Cold War. /
#3BP T @B wraler (Lpsed L7505 @etaniewred G ualliGuriler Cung Fnilearew @)wssses BlnaaF e
(LpSFW LIEIG USHSSTH.

0.139) Which commission recommended the reorganization of states on a linguistic basis?
wrplevsisear Owrfleumiwns I Freods LIfbSIe0 IS5 246D 615/
[A] Fazl Ali Commission / o%1L16060 @S] & L) exyesr

[B] Sarkaria Commission / FF&SSTHWT &LO 1 GoT

[C] Kothari Commission / G&ng il %L0)eyesr

[D] Mandal Commission / LDTeSTL_G0 & L6) 61637

[CORRECT ANSWER] [A] Fazl Ali Commission / o%1L1a060 @S] &LO)axyesr

[EXPLANATION]

The Fazl Ali Commission (1953) recommended the reorganization of Indian states on linguistic lines, leading to the 1956 Act. / 195360
oLIa 6D 960 sLlapasT @QBH W TBlevmIsear Qo) Sy LitienL_uled mFreoioLitieys LfBHIISSS5), Q)% 1956
FLL B G Lflol G555

Q.140) The first general elections in independent India were held in .
F5pH1 @ pPwrailar (s Clungg Ceigaser @) pLBSSI.
[A] 1948

[B] 1949

[C] 1952

[D] 1957

[CORRECT ANSWER] [C] 1952

JEXPLANATION]

The first general elections in India were held in 1952, establishing the democratic parliamentary system. /195260 (@)@ wmaied (LpgeD
Oungis CaigevsaT FevL_CLIPDET, @) Q6THTIS FL L LOGTD (LPeD 2 (heunSsLiLIL L gl (1951 9&CL_mud 25 Lpsev
1952 (igeus 21 auens)






EDUCATION PSYCHOLOGY

S0l 2_6maillieL

Q.141) The Mid-Day Meal Scheme has been renamed as which of the following?
(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Answer: C) PM POSHAN / PM GLIT660T 619868 HIJLOM60T

Explanation: The Mid-Day Meal Scheme, a flagship programme providing nutritious meals to
school children, was renamed as the PM POSHAN (Pradhan Mantri Poshan Shakti Nirman)
scheme in 2021. The aim is to ensure better nutrition, learning outcomes, and overall health

among children studying in government and aided schools. QIaT&HSHLD: ,I'_F)GO"UTLIBBGD

2 6wie s SILL LD, Leeil GLPhenGHEhHS 291 L FFHHME 265016 SH60)61
QIRIGLD (P&HEIW S L LD, 2021@ 60 PMPOSHAN (LNNJ&T6T WHSH GCUITaQ60
69568 BT eT6Tm) LMIQLIWIFLUULL &I @&60T CHTHSHD iJ& MHMILD
o gelujL 6T @QUIRGLD UeTallsealled LIgsHGD GLHMSGSHEHHG HMbHS

261l_ | §&& G, HMMEL allemaTe]ser, MMID L (HELTHSH HCITHHILSmS
2 MG QFieus).

Q.142) The main goal of the NIPUN Bharat Mission is to ensure foundational literacy and
numeracy for children by the end of which grade?

(A) Grade 1
(B) Grade 2
(C) Grade 3
(D) Grade 5
Answer: [c] Grade 3

The NIPUN Bharat Mission (National Initiative for Proficiency in Reading with Understanding and
Numeracy), launched in 2021, aims to make all children proficient in reading, writing, and basic

mathematics by the end of Grade 3.  2021-@\60 QIGTLRISLILL L NIPUNUMI& &SILL LD
URSIL 65T UTHSSHL MMILD 6TeuresMIanNed SMenLns&mest C&EL
WPWMHE), SIMeTEHS GLPHEMSHEHLD UGLIL 3-601 (LplgelleL aUTHSG6V,



S1(PSIGHL LOHMID SlgliLenL. SuNgHHeL CHIFH QUMM
ChT&sLMSS &M (heTerns).

Q.143) “Jaadui Pitara” is mainly targeted for:

“QUGMUN NGHTIT (PESHWILDTE WT([HSHHTS:

(A) Secondary school students / @[J6BOTL_ITLD [Hl6MEV LOTETOTEU TS 61T
(B) LDTGUUTEUI&6IT Parents only / QUMHCMMTI&6T LOL (HLD

(C) Teacher educators / QL EFIWT LUNDHE eT(RLIGUITT

(D) Foundation stage learners / Qg LILI6ML. [Hlemev SHmmev

Correct Answer:
[D] Foundation stage learners / Qg LILI6ML. [Hlemev SHmmeL

Reason / SITIJ600ILD:
“Jaadui Pitara” is NEP 2020 learning material kit for children of foundation stage (ages 3-8).

“omGMuT LNGSHTM 6T6TLG| NEP 2020 SilqLILIHL [Hlémev (6UWIF 3-8)
GLHMBEHERSSTET DML QUL L SLD.

Q.144) “Integral education” covering five aspects of human development is a concept
advocated by:

O6vTlS eUeTTFHUNGT WHG JILDFRIGMET 2 6L SHI “62 (HHIH06TIH S
&e0all” 61601 &(H&HMG 6U6OIL|M|SSIeN:

(A) Sri Aurobindo / L) SITeNBCHT

(B) Jiddu Krishnamurti / QIL_(® &5 6196WTeLDITE &)
(C) Vivekananda / Qﬂ@G).I&SI‘I’GUTEQ’)Ij

(D) Tagore / HMT&al]

Correct Answer:

[A] Sri Aurobindo / L), SITeNBGCSHIT

Reason / &ITIJ680ILD:

Sri Aurobindo’s Integral Education stresses 5 aspects: physical, vital, mental, psychic, and
spiritual.

1% SITaNhCHTaN6H “6@(HRHMEIHE HeLE” 5 JLDFMHIGHEM6T
QOWMISHEMSG: 2 L 60, 2 U, LD6UTLD, 4,60TLOIT, S, 6TLOIGLD.



Q.145) Who is considered the Father of Sociology?
gepsalliedler Shemg 6T6Tml SHHSLLIRLOIT Wmy?

(A) Max Weber / GLD&EV Qleuully
(B) Auguste Comte / Q},&6MVL SHITLDL
(C) Karl Marx / &ITIJ6L LDMI&HEMN

(D) Emile Durkheim / 6TLOI6L L [J&HGISLILD

Correct Answer:
[B] Auguste Comte / Q},&6IVL SHITLDL

Reason / SITIJ680ILD:

Auguste Comte is called the Father of Sociology for coining the term and establishing sociology
as a science.

“FELPSHOILIED” 616N GIFTELEMEV 2 (HEUTEHE), MG 2(h MOTNIGVTS
HeneoHMIGHWIHTEL L&V SMDL “FeLPSHAILICO6HT Hhems” 6T6uT
SIMPSSLILIGH DT

Q.146) Rousseau’s educational philosophy best supports which concept?
chGamallsr He0es HHGIAID 6hHE &HHMS HMLILTS YSFHEHDE?
(A) Societal control / &¢Lp& &L (HLUm(H

(B) Naturalistic development/ @u.u_han& 6)_I6TTI'jé=é=1

(C) Industrialization of education / &606UTI6 QG TLHELLOUILDTE S 6D

(D) Rote memorization / LD6OTLILITL_LD

Correct Answer:
[B] Naturalistic development / @wﬁ)mas G)JGTTI'jé:dﬂ

Reason / &IT[J6SUILD:
Rousseau emphasized learning in harmony with nature and child’s natural growth.

CHGCET, GLpHenGUNeT QUIMEMSIITET UeTIFH OMID @QUIMEDSU|L 65T
QenewihS HMHMEN6L 6UEOIL|M)ISSl6uITi].

Q.147) When was Anna University, a premier institution for engineering and technology,
established?



GC&: Qumluuled MMID CFHMHLBIL LUSHMSTe (LDGH6oTenLd HmIeUeTLOm6oT
SIGTUIEHIT LIGL&EMEVSSHLPSLID 6TLIGUMG Himieurill L g)?

(A) 1929

(B) 1957

(C) 1982

(D) 1978

Correct Answer:

[D] 1978

Reason / SITIJ680ILD:

Anna University was established in 1978 in Chennai as a premier center for engineering and
technology.

SI6TUIGHONT LIGLSHEMELESHLPSHLD ClF60T6m60T H&HIFl6L 1978 QYLD 4, 6901(H
Qurluuied MMID CGTLAGLBIL LUSHMEBTE (LPSHESTENLD 6HLOUILDITS
Hmieuiulr L g

Q.148) Who is hailed as the "Father of the Tamil film industry" and is known for producing and
directing the first silent film in South India?

G&: "glhlpG HempuuL g Glemmullet Hhemd" eteorm CUTHMULHLIEI]
LMD QFeiTaNHAHITONGT (LPGHEL 2a6mLDG SlMJLILL H60G SIS E)
@WISSWIeT ulmy?

(A) K. Balachander / G&. LIT6L&H&I]

(B) Dada Saheb Phalke / &M FTGaML LIT6LGES

(C) R. Nataraja Mudaliar/gcl,l'j. hLJT® (y)g,eﬁlu_lmj

(D) S. S. Vasan /6T6N0. 6T6N0. 6UITE 60T

Correct Answer:

[C] R. Nataraja Mudaliar / Q4. BLJTEY (L0 &eOILITI)

Reason / SITIJ680ILD:

R. Nataraja Mudaliar is called the Father of Tamil Cinema for producing & directing Keechaka
Vadham (1916), South India’s first silent film.

Sl BLITE (LPKHEOWITT, 191660 &FE 6U&LD61651M & 6oT6sNHSITe6oT
(PGH6L 2amD FMTLULL H6mG QuIsHE SWMHESHST, “HLOIDS SHemFLLL &
SlmOUT6T SHenG” 6T60TM AHMLOSSLILIGE M.



Q.149) Which Chola king is famous for his naval expeditions that extended the empire to
Southeast Asia?

Co: e1hg G&MP 6TeN] QHTHNGG PHWT aueny CUITeng
aNfleuG S H6g SLDHUMLL LILNIKSE@p&HSTSHL LSHLPCILMMeNI)?

(A) Rajaraja Chola |/ QITegnmeg G&mLO6oT |
(B) Rajendra Chola |/ QITCRBAT CEMLP60T |

(C) Kulothunga Chola | / §GeOM& &ImIG CFTLHEOT |

(D) Aditya | / QY& GWI |
Correct Answer:

[B] Rajendra Chola |/ QTGRBEH Gampeo |

Reason / &IT[J600ILD:
Rajendra Chola |l is renowned for his powerful naval expeditions that extended Chola influence
to Sri Lanka, Maldives, Malaysia, Indonesia, and Southeast Asia.

QITCRHSH CEFMLPEI |, H6oT& QUG SHLMLIML LI LILICTIRISETTEL
Gempy gL &emnwl Qeomisns, DTewg e, LGeo&m, QbCHTCeor&wm
LOHMID CQHTHPEG HpFWT eueny eNfleubGSleur.

Q.150) Human brains having enactive, iconic and symbolic modes of representation — concept
formation by

QawievL(hhlemev, 2 (Heus MHemev MMID GOWIL G Gumerm
HemeusHemaiemLLLIG| LD6ETS CLOEMEITILITEIS| S GLD 6T60TMD &(HHMS
9 _(IH6UMSEIUIEUI:

(A) Bruner / LI 63T1])

(B) Pavlov / LIMeUGEVIT6YI)

(C) Piaget / LMLITGEY

(D) Thorndike / &ITIJ63T60L_5

Correct Answer:

[A] Bruner/ IJ(IBG'OTIj

Reason / SITIJ680ILD:
Jerome Bruner explained concept formation through three modes of representation — Enactive
(action-based), Iconic (image-based), and Symbolic (language-based).

QRGCrMD LeH6), H(hHSH 2 (HeUTSHSD cPTM Heneuser eupluims



BL&SEMG| 6161y — CFUIeLLI(RBHlémEV (Enactive), 2 (H6U& [HléM6L (Iconic),
&MU @G MHemev (Symbolic).

Q.151) Pre-operational stage is one of the important stages of Piaget's cognitive development
between

QEwe&HE WHULL Hlenev sterug LNMUTCRUT6 SiNeSHmest alarjgs
HemevsafleL 61hHG eUIS6n (h&HESLLILL §)?

(A)Oto2years /0 (LPGH6EV 2 QUWIG| UM
(B) 11 years and above / 11 @I LOOMID HSHDHGELO6L
(C)7to11years /7 (IPSHEV 11 QUWIF| €D

*(D)2to 7 years /2 (IP&H6V 7 QUUIF] 6U6DI]

Correct Answer:
[D]2to 7 years /2 (LP&H6V 7 6UILIG| 6U6M

Reason / &ITJ6UUILD:

In Piaget’s theory, the Pre-operational stage occurs between ages 2-7, marked by symbolic
thinking and egocentrism.

NwrGxuiest GCHTLUMLIq60, “CQFuI&HES (POHULL Hlenew” 2-7
QU6 (HHG6T HenL QUMIAMEG; QH6L GLOHenGH 6T HeT6uThIG6T CLACVLD
aHH&saD, H6sHCH 2l uTTameuulled Hh&Hésa D QFUISMITTEH6N.

Q.152) Physical development is .
2 L6V 6UaJ&FSH 6T60TLIG) :

(A) Quantitative in nature / SIEMENIL_&&alq Ul &60T60ILD
(B) Qualitative in nature / &IJ SlqLILIEML_UT6LIT6T F60T60ILD
(C) Reflective in nature / NJEILIGOILIL &65T60ILD

(D) Continuous in nature / Qg,rrl_l']éeﬂu_lrrm g,a'ﬂsmu)

Correct Answer:

[A] Quantitative in nature / SIEMENIL_&&alq ! &60T60ILD

Reason / &IT[J680ILD:

Physical development can be measured in terms of height, weight, size, and motor skills, hence
it is quantitative.



2 L 60 6UEMTEFH 2 WIPLD, 6T6ML, 2 L 6L 66, QWISHSHE Hmeor
GuTeTmEUMMITEL SleMNIL &H8alq Ui, H&ECI Q&I “oaTe(h H60T6mLD”
2 ML LLIG).

Q.153) In Pavlov's classical conditioning, the unconditioned stimulus (UCS) is a stimulus that:
Lmedevelest UMJUFW ULP&SLILGESS60I60, HLhGHemest @eveons &esu(hge0
(UCS) 6T60TLIG)| 6THSHMBUI FHTTuT(HHEVMEGLD?

(A) Elicits a response only after repeated pairing / Lﬁ'ﬂfb'[@Lb LﬁGﬁM@Lb @6076601’5’&) mg_r)(‘;&,

ufleneo gHUGESSID

(B) Elicits a response without prior learning / (Lp60T8aL_Ig LI &MHMEOl6TTMN LIGl6mev
JHUGSSILD

(C) Becomes neutral after conditioning / LLp&&LILLSHNSGL LNMG
HBHEOHEOWITETSHTS LOTMILD

(D) Is the same as the conditioned response / @UEg@WDU@E,gUULL u@gm_a'ﬂ
Cr LIHHWTE Q@HSHGLD

Correct Answer:

[B] Elicits a response without prior learning / @m&mLLQ.UJ &:mm@dﬂ@ IJ;ﬂGtDGU
JHUGSSILD

Reason / SITIJ680ILD:

In Pavlov’s classical conditioning, UCS naturally triggers a response (e.g., food - salivation)
without learning.

umeuGeomeisor LMFOUFIL ULPSSLUILI(HESH606L, UCS (HiLIhS et 6LV
St (h&6e0) QUIDeSIITECE USHenew gOLUBSSHID (ST 2 606 —
BreNemILIL), (P6iT&FaLl lgul HNHMEL CHMEUUNELED6L.

Q.154) Thorndike's 'Law of Effect' states that behaviors followed by satisfying consequences
are likely to be:

CamiyssTenL_s&l60r ‘llemeneyd FLL LU, S(HLUSH SO 6160616 5H6m6rTE
Q&MWL HL GH6MGSHET HSHLD CFULILLEHEUSDSHT6OT EUMLILIL| 6182

(A) Weakened / LIeueXeorLiLI(h & SLILIEGLD
(B) Forgotten / LOM&SLILI(HLD

(C) Repeated / L3sGOT(HLD Q& UIwWILILI(LD



(D) Generalized / QUH@GO‘)LDI'JU@’&:;,&;I'JU@LD
Correct Answer:

[C] Repeated / LBsGOT(RLD Q& uwILILI(RLD

Reason / &ITJ6UUILD:

Thorndike’s Law of Effect: Behaviors followed by satisfying results are strengthened and
repeated.

ComjeiTemL &Sl “elenaTeyd FL L LD LU, S(HLSSILOMET eT6m6rTeySHemerns
Q&ML HL H6mG &6 euILIGUMHM) WBeor(GLd CEunuiL@Lb.

Q.155) The Gestalt theory of learning emphasizes that the learner perceives things as a:
Q&eL ML &MMEL GCHTLUMH SOHMIBY CILITILET&HET 6T6lITM)
2_6WIHMM 6T6oTLMS 6UOIL|MISHIHMGI?

(A) Collection ofindividualparts/g)wﬂf&;’&)“ﬂ U@ﬂ&:aﬂdﬂ Q’&)I'I'@I'JLI

(B) Whole or a unified pattern / (L) (LD6DLOWITS SV G| €2 (IhMIFM6EVTTTHS
61q.6115 6L

(C) Random set of stimuli / FTMM G6ws1(H&HL&6MesT Q& MG LIL

(D) Response to a single stimulus / MMM GTEHI(HHEVI ST LISI6L

Correct Answer:
[B] Whole or a unified pattern / (L (LD6DLOWITS S16L6VG)] €9 (IhMIFI60 60T S

61q.615 6L

Reason / &ITIJ600ILD:
Gestalt theory says learning occurs by seeing things as a whole pattern, not just separate parts.

Q6oL el GCaHmLUMT(, HMMEL 6T6TLIGI CILIT(HETSEMAT (L (LYemLOLITEDT
Qllq.e1l6L 2_uITeUSH60 cLpeVD HSLEMG), HelG Gl LGSHEHTs 1606V.

Q.156) The need to succeed, to excel, and to achieve a high standard is known as:
QeupmMCuD, HmbHG eNaThis, LMMID 2 WIJ §IHme emLul CauuhLd
1601 CHemeu @euaimm SmPSESLULGHDGI:

(A) Self-Actualization / & 60T-2_6U011] &6V
(B) Power Motivation / glféﬂ&:l‘ﬂj &[_F)QJ’EJG\)
(C) Affiliation Motivation / @6060UTLIL| 2_[H &) 6L

(D) Achievement Motivation / &T&6M6UT 2_[H )56V



Correct Answer:

[D] Achievement Motivation / FT&6068T 2_[5 5|56V

Reason / SITIJ600ILD:
The drive to succeed, excel, and reach high standards is called achievement motivation.

QeummMCuD, HmHE aNeThS, 2 W HI&HmG enL Ul CeusmrGLd 61651
2 HEHIHEL “‘FNHM6M 2 HHIH6L” 6160TM)| SMPSHSLLGHMGI.

Q.157) According to Guilford's 'Structure of Intellect' model, intelligence can be classified along
which three dimensions?

ﬂsi)o“oGIJlTl']I;Lq.GéT 'ymm@aﬂm &L_L_6MLOLIL] (‘'Structure of Intellect') LDITQIﬂI'JIJLq.,
Mictotenoileney 6TH& CLP6TMI LIFILDMeunImiSeMes SilqLiLiemLuied
UMSLILI(H & SHEVITLD?

(A) Single, Two-factor, Multi-factor / Mémm, Qetor(h SHITIeueT, LI6L SITyeuen
(B) Operations, Contents, Products / Q&FWIEOLIT(H&6IT, 2_61T6ITL_SH&MRIS6T, 61160616 SH6IT
(C) Componential, Experiential, Contextual/&a@j&im, gl@_IUQ_ILb, @QG\)

(D) Linguistic, Logical-Mathematical, Spatial / GILOMLAIUINLICD, &[]&&-&H6WNS,
AL EEMHS
Correct Answer:

[B] Operations, Contents, Products / Q&WIEOLIT(H&6IT, 2_61T6ITL_S&RIGENT, 611606116 SH61T

Reason / SITIJ680ILD:

Guilford’s Structure of Intellect Model explains intelligence through three dimensions:
Operations, Contents, and Products.

&l60..CUMTLIq.60T “HlevuisoorNeN6n &L L emLoLIL LM, pissomewilened cLO6TM)
LD TEsTRIS6MEsT g LiLemLUuNed UmSLULGSHIADG: Q&FweoUT(hseT,
2 _6NMENL_SH&HMIG6N, 6066 & 6IT.

Q.158) Who proposed the 'Group-Factor Theory' of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal comprehension and spatial visualization?

mistutenoile) 6T6oTLIG QOMLAIL Lflged MMID QL EpFMIHS ST SLILHESSH6L
GUITETM (LPGETTEMLD LO6TT FMETHATTEL Y60 TaTm Faml, 'G(Lp Syeveil
G&SHLUH@' (Group-Factor Theory) 6T68Tm 5166616601@6)_]65 GCamL_umL_enL
(LPEOTCILDMLAIH S 6T WIM?

(A) Louis Thurstone / e9uilery  &eroGL meor



(B) Charles Spearman/&l‘l’le\)Gf\) GT'\)Ij]u_II']GLDGfﬂ
(C) Raymond Cattell / GIjLO60OTL. G&L_1q.60

(D) J.P. Guilford / G&.19. &leL..GUITTL

Correct Answer:
[A] Louis Thurstone / g)_lTU.‘ﬂGT\) g;l']GT'\)GI_ITa'Yr

Reason / &ITJ6UUILD:
Louis Thurstone proposed the Group-Factor Theory, identifying Primary Mental Abilities like
verbal comprehension, reasoning, and spatial visualization.

smuileny &FeroGL e, “Gp Smyswth CaTLUTE” (WeTCTAbh], CILomAlL
Lf1&60, SyLomend, QL @ FMhHE STLALLGESHEL GUITETM (LD GH6TTEMLD LD6IT
HM6OTSH6MET SI6OL_ITEMLD GH6VOrLTI].

Q.159) Continuous and Comprehensive Evaluation (CCE) was legally supported under:
QgmLyF&Swmer MM eNfleumest WHLNIEH (CCE)FLL F STs
PSS G| 61560 &HLp?

(A) NEP 2020

CHHW HeLaNS Q&TeTems 2020

(B) RTE Act 2009 Section 29(2)
@eveus LMHMID SLLMUS &HeLall FLL LD 2009, LNfley 29(2)

(C) Kothari Commission 1966
CEMHSMF 4 6M6UITLILD 1966

(D) NCERT 2000

Calw Hevall miFs wmMID LUNHE HeeiT&led 2000

Correct Answer:

[B] RTE Act 2009 Section 29(2) / @606u& OMID SLL MG &H6LaI FLLLD 2009,

1Nifley 29(2)

Reason / &ITJ6UUILD:

CCE got legal backing under RTE Act 2009, Section 29(2), ensuring continuous assessment for
child-friendly education.

CCE&® SLL FaHwmer s re] eveus WOHMID SLLMLS &eoell FLL LD
2009, LNfl6Y 29(2) BLp HML 558 QFH GLHEDS BLL HLNSSTS
QaMLFFSwmer LHUS L 2 MG QFWLSDGI.



Q.160) Which of the following is the correct order of the hierarchy in evaluation?
LNeTeu(heueTeuMMEDL 618 SIS 19601 HEMEL(PEMM (Hierarchy) FIFIWLITEDT
6Uifleng?

(A) Test > Measurement > Assessment > Evaluation

Comgener — emall(hgHeL — WHUSE — WHLILMIE

(B) Measurement > Test > Assessment > Evaluation

sleme(hHeL — CeTHemssr — WHUSEH — LHULMIIEY

(C) Test > Assessment > Measurement > Evaluation

Cengemnent — LHUIH — SeTGHL — LML

(D) Assessment > Evaluation > Measurement > Test

LHIIE — wHuumie] — SR L — GCETSHen6

Correct Answer:
[A] Test > Measurement > Assessment > Evaluation

gflwimenr L&HeL: CETGHemenT — Senall(HHs0 — WLHUEEH — HUUMLIEY

Reason / SITIJ680ILD:
The proper hierarchy is:

o Test (GC&M&6mEDN): Tool to collect data.

e Measurement (gqms)fﬂ@g,si)): Assigning numbers/quantitative value.
o Assessment (LD&ILIS(E): Interpreting results for learning progress.

e Evaluation (LDQI;IIJI'I'U'_IG)_]): Judging overall effectiveness or value.

gilwimest euflemnsg:
Cemgenen — emel(hgHeL — WHUSE — WLHLILMUIE.

Q.161) A Mathematics Readiness Test to predict performance in Algebra is an example of:
SLQKLITaNeL CFWELH MM H6utN&HS LweTURSSLLUGBLD SH6uNsHs
swimjhlemney CeMgemest e T(HHHSHHML(b:

(A) Achievement Test

FN5Heneog G&meg emneo

(B) Aptitude Test

Hmerey C&mgen 6ot

(C) Diagnostic Test

CrmwmMigeL C&mgemest



(D) Prognostic Test
(P60TGaL 1985 SHewnLiIL C&mgement
Correct Answer:

[D] Prognostic Test / (LP60T&al g & SHeuuNLIL C&ITg 60601

Reason / &ITIJ600ILD:
A prognostic test predicts future performance (e.g., readiness for Algebra).

W6TFaL 198 SeutLIY C&m ement, LOMsuaTeUIfledt sTEHTHTeL C&FUI6L Slmem 6ot
SEM&HSL LWeTUBRS DS (2 STIEID: HLCIQLTT SMHMEVISHST6oT
SWmyhlenev).

Q.162) Who is known as the father of the Great Man Theory of leadership?
sUQUflw 6fl&T CHMLLIML L 63T (Great Man Theory) HH60& UIMTITSHE

&HSLULEHDM?

(A) Fiedler / .lSL_6VI]

(B) Thomas Carlyle / DN SITJMEVED
(C) Kurt Lewin / G spmexeor

(D) Max Weber / GLD&6rv  GleLy

Correct Answer:
[B] Thomas Carlyle / g;lTLDd\) &:ITI'jGIDG\)Gi)

Reason / &IT[J600ILD:
Thomas Carlyle is regarded as the father of the Great Man Theory, which states that leaders are
born, not made.

ST SMJene06d “NSLQUFlL 6fGT CHTLLUMTL g 60T &heng” 6Teur
SIMPSSULGHDTT; Qb CHETLUTEH Hemeveaufser LNmLNGeoGul
2_(HLeUTHMMTI&H6N, 2_(HheUTEHSLIL(RUISELMEL 6T60TM)| FoMISME).

Q.163) A student reflects on their learning strategy and revises it for better performance. What
type of knowledge is this?

(A) Factual
(B) Procedural
(C) Metacognitive

(D) Conceptual



Correct Answer:

[c] Metacognitive / GILOL_L_MT&T&60TIL_1g 6)1 6

Metacognitive knowledge refers to awareness and regulation of one’s own thinking and learning
strategies.

QL L T&r&elll g6l SiMley 6T6TLG ep(heuflen QEMhHe HhGHenes LOMHMILD
SOMeL 2 GHleafett L6 LOMILD €(LPMIG(LPEMMEMIULIS
GMNSHMI.

Q.164) The term Curriculum is derived from a Latin word “currere” which means:
(A) Toteach

(B) Torun/racecourse

(C)To learn

(D) To read

Correct Answer:

Answer: B) To run/ racecourse / @@56\) / uL'r,g;u_uLl Lmend
Explanation: “Currere” means to run or racecourse, symbolizing a planned path for learning.

“Currere” 6T6OTMMEL 6(HHEL SI6L6VG LHGWIL LITewG 616t CILIT(H 6T, Q&)
SMHOVISHSTEST SILLLOILUULL UTenGenuls GSMSHME.

Q.165) Which principle of curriculum development encourages addressing various learning
styles and preferences?

UTLSSHLL euenj&&ule 6hHs ClHmemensd LeLGeum SMHMEL LImeuen&el
LOMID aN@GBLUURIS6T DSUITET 26185 GaTN&HHME)?

(A) Balance / &L0[Hl6m60
(B) Individual Differences / 6OlILILL_L. Geumium(h&er
(C) Utility / Liwtestum(p

(D) Relevance / QIUIT(IF & LD

Correct Answer:

[B] Individual Differences / S6vilLILL_ L. GeumiLm(haei

Reason / SITIJ680ILD:

This principle ensures the curriculum meets different learning styles, abilities, and interests of
students.

AH%HS CQ&MeTens, LOMeuTeUISen6s NGINGLOMETT SMHM6L LIMTEINS6T, M6,



LMD eN@GLUURISET L THS QFWLIWD alensuiled LUTL S L Heng
g UEMLDES 2615 GNNSHME).

Q.166) Project-based, real-life learning in curriculum best reflects which approach?
S L siglitenL_uleomen, Hy aUMDEHME SMMEL 6THG IEM)E (LPMMEDLL
Souurs NySHUed&HEHMmSI?

(A) Logical/ §J&&IJ Slimenr
(B) Spiral / &LD6V
(C) Unitary / é@2(Ih60LD

(D) Topical / §606VLIL
Correct Answer:

[C] Unitary / 62 (IH60LD

Reason / &ITIJ680ILD:
Project-based, real-life learning integrates subjects into a single unified experience, which is
the Unitary approach.

S L siglitenL_ulleomen, Hy eUMP&HmMS SMHMEL LI LML MKiGenen Gl
@DMM SIMILIQILDTS 62 (HRIFNEEGLD; QFHIC6U “6(HEMD V|G (LPEOD”.

Q.167) Which institution leads the national Virtual Labs project in higher education?
(A) ITBombay

(B) lISc Bangalore

(C) IIT Delhi

(D) NIT Trichy

Correct Answer:
Answer: C) IIT Delhi / IIT Q60O

Explanation: IIT Delhi coordinates 10+ institutions in developing Virtual Labs, offering simulated
practical experiences for college students nationwide.

IIT CIL6LE0 10+ HIMICUETTRIGENET 62(IhRIKlENETSHG CIOWIRSG] Y UIOISHHISE 6T

2 (HUTEGAMG!, BTEH (L (LPEUGID SOV LOTETITEUTSEhSE
2 (HeUSLILESSUILULL HEOL (PMD SiFHILMKIGENET QULDRIGHME.



Q.168. Which toolis India’s first Al-powered teacher robot?
(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Correct Answer:
Answer: B) IRIS

Explanation: IRIS is Kerala’s teacher robot, capable of interactive 3D content delivery,
simulating real teacher-student exchanges via Al.

IRIS 601 Cagenmeilest AMuwly ComGum g,GLW, & a1 _mHLD 3D
2 616 &5 QUPMIGEMELF QFWILILD SMesT CSTEUL &I, Al CLHEVLD
2_6UTEmLOUITEOT oY, Aflwlj-Lomeuoredj LIFILOMMHMMISEN6T 2 (heUSLILIGSHSMSI

Q.169) TPACK was proposed by:
TPACK (P 60TQILDTLANH & )T &H6T:

(A) Mishra & Koehler / LOlerOIT & G&MTQM6LIY
(B) Skinner & Crowder / @0 &\60T60TI] & &HlT6YL_IT
(C) Morrison & Hunt/ LDITIﬂ&GéT &m)aﬁm'_

(D) Gagné & Krathwohl / &ITG6UT & HITT&HGeUTEL
Correct Answer:

[A] Mishra & Koehler / LA16NOIT & G&HTOM6VLIT

Reason / SITIJ600ILD:

TPACK (Technological Pedagogical Content Knowledge) framework was proposed by Mishra &
Koehler.

TPACK (A& MLALHIL L-SMLNGS60-2_6TaTL_&8 HH6Y) SiemLLisnL LierOT
LOMID CHTOMELT (L ESTCLDTLANH S 60T

Q.170) Which platform is India's main MOOC provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) S WAYAM

(D) e-PG pathshala



Correct Answer: C) SWAYAM

Detailed Explanation: SWAYAM is the Government of India's flagship MOOC platform, offering
thousands of courses for schools, colleges, and professionals in various Indian languages.
Beyond courses, SWAYAM houses educational content developed with public funding, open to
all—a key OER (Open Educational Resource) repository for India.

SWAYAM 6T60TLIG| @S SITEI60T (LPSHESTENLD MOOC GENLDMGLD, LieTTaf&er,
&6LQVIM&6I, LDOMID QG (PEMM ULNIBIHEFHES LD QHEIL
QTLHISeNeL SuNT&eHauSSTe LML COBMISmeT QILNHIGSHME.
UTLQBMISER&HE SILIUMED, QUG HHuGeTu|L 6T 2 (HeUTHSLILLL &606)
2 (ML 555608 M6UGHS(HEHMEI, QG HMETUHEHGSGLD HhSe06x—
ABHWTNNGS €(H (PSS OER (HMHG &6V 66T &eEhFILILDMGLD.



GENERAL KNOWLEDGE

QU M6y

Q.171) The first Indian to become a member of the British Parliament was?

Nl g6 UMITEHLEIMSSIL 2 MILINCTTIT6N (NGO @QBSILI WImy?
(A) Mahatma Gandhi / LOSTSLOM SMH

(B) Dadabhai Naoroji / STGTUML GCHenGrmed)

(C) Subhas Chandra Bose / &LITerv &h&ly GLITerv

(D) B.R. Ambedkar / 1.8} []. SILDCLIG &I

Correct Answer:

[B] Dadabhai Naoroji / TGTUML QBHenGrme)

Reason / SITIJ680ILD:

Dadabhai Naoroji was the first Indian elected to the British Parliamentin 1892 as a Liberal Party
candidate.

STHmUML QBHenCrmel), 1892840 Sy 6u0I(R 60ILITeL SL& Geul_Umerymss
Coines (G &HasLIUL (h, Nl igee UTTTELLaImSSHL 2 mILN6TIme (Lp&H6eL
QBSILIT 6oy,

Q.172) Which was a military title during Sangam Age?

Fhis &TLHHL QIPRISLIULL @nmamell UL LD 61%?
(A) Poligar / LUTE® LIS ST

(B) Perumakkal / QILI(TH LD & G 61T

(C) Enadi / 6T60TITLg.

(D) Manigramattar / LOGSUTISIJITLO & & T[T

Correct Answer:

[C] Enadi / 6T60TITLG.

Reason / SITIJ600ILD:
During the Sangam Age, Enadi was a military title given for valor in warfare.



FMISSTVGH6V, sTs07rTlg 6T60TLIH CUTTSHMEMLDSSHMS ULPRISLILIL L. QrmeumieL]
UL L LD o4@SLD.

Q.173) The Directive Principles of State Policy (DPSPs) in the Indian Constitution were inspired
from which country's Constitution?

AnHW SITHweLEmLOLINE 2 6o LOMHEVS CS&TETeNS CHTESMIGE 61HS
BT 1601 FHIevemOLINeL @Q(Bh& UTHLL QUDME?

(A) United States of America / SICILDIl&&IT

(B) United Kingdom / @\RI&Ie0MH &)

(C) Ireland / SIWIJEOMHG)

(D) Canada / &63TL_IT

Correct Answer:

[Cllreland / gqu_u']a)rr[r,g

Reason / SITIJ680ILD:

The Directive Principles of State Policy (DPSPs) in the Indian Constitution were inspired by the
Irish Constitution (1937).

Qb syfwevsnloLitlen WMHeVs C&TeTems CHITSHEMRIGEN, 1937
SlFeoHE SIT&lesnLILNED QN ([BHGI 6T(hSHISCSTETATLILIL L 616l

Q.174) The highest peak in the Aravalli Rangeis ___.

sigmeueail meLGHESTLIfl6L 2 WIFLOM6T HSHILD 6182
(A) Mount Abu / LDEY6TUTL- 4L

(B) Anamudi / &4,68T(LPlg.

(C) Doddabetta / GL.TLQUL_L_IT

(D) Guru Shikhar / @ (I, &S]

Correct Answer:

[D] Guru Shikhar / & (I, &&I]

Reason / SITIJ600ILD:

Guru Shikhar (1,722 m) is the highest peak of the Aravalli Range, located near Mount Abu in
Rajasthan.



G &) (1,722 10) 6T60TUG JTLQErVGHTEEN6L LDEGTIL. SpL| Si(HE6L
SIMLDHGI6TT6N, SiTeU6Ternl LDemeLSHEGTLfl60T 2 WIFLOMET HSFLD Y GLD.

Q.175) Which of the following is classified as a primary pollutant?
LNeoT6U(IH UETTEUMMICL 61FH (LPSHESTENLD LOMHLI(BSHSHILITS
UMmSLILGSHSLLGSMEI?

(A) Ozone / 6 G&ITEBT

(B) Smog / |60 &CLPL_L_LD

(C) Sulphur dioxide (SO,) / HhHS ML Y &HMEF(H (SO,)
(D) PAN

Correct Answer:
[C] Sulphur dioxide (SO,)/ &H&H& ML Y &HM&(H (SO,)

Reason / &IT[J600ILD:

Primary pollutants are directly emitted from a source (e.g., industries, vehicles). SO, is a direct
emission, while ozone, smog, and PAN are secondary pollutants formed by chemical reactions.

WG6TenLD MGLGSHSH & ChIlgUITs cL6vS S0l HE)
QeueMuilL U@ &lermen (2-ST: CQHTLHMEF TNV, OUTHEIMIGET). SO, CHlq
QeueMui(h oG LD, 60160 6RGEMEIT, LIeH&ELPLL LD, PAN Sy, &lLisned @T6GoTLTLD
hlémev LOM&LI(HS S\

Q.176) On which date is India’s National Sports Day celebrated?

@nHuwiransr CH&W eenemuml_(® b6 6hS HireaTed
QameorL_mL_LL(BSm&I?

(A) &IO60T 23 (June 23)

(B) S &HEMVL_ 29 (August 29)
(C) 6JLIJ6L 6 (April 6)

(D) QFLIL_LDUIT 5 (September 5)

)
)

Correct Answer:

[B] August 29/ QL &HEMVL 29

Reason / SITIJ680ILD:

India celebrates National Sports Day on 29th August, the birth anniversary of hockey legend
Major Dhyan Chand.



@nsHwimaled CHHAW aemanim_ (B HIT6T QL&EMVL 29 Sl6TM QMTSHE
BTGeT GLORT STt &hd LNMHS BHrenear Hleneuedoaljbal
Qa e mLUUB S MS).

Q.177) Which among the following organisation released Multidimensional Poverty Index in
India?

@nHwimalled Lew uflnme eumiend Gl enL Qeuafui L NesTeupLDd
SlMLOLILGENEL 618)?)

(A) NITI Aayog (BI&) o, Culms)
(B) Ministry of Economic Affairs (QILT(HEMTSHTY eX6USBMT] SH6MLDFFEHLD)
(C) National Statistics Office (G LjeraflaNleu] SienIaue0&LD)

(D) Ministry of Internal Affairs (2_6TT&HIEMMD SEDLOFFHLD)

Correct Answer:

[A]NITI Aayog / H&) o4, ClLITE

Reason / &ITJ6UUILD:

In India, the Multidimensional Poverty Index (MPI) is released by NITI Aayog, using UNDP and
OPHI methodology.

QnHwreied, Lev uflmemr eumiend Gl (MP) HE < Cuwimé
QeueMuNGEMS; & UNDP LOMMID OPHI (LPMMENUI 3ilq LILIEHL UITHES
QSBTEIIL_G)|.

Q.178) Who is known as the "Moon Man of India"?

@nHwireedn "FhHrest NS 6T60TM SMLPSSLIL(HLIOU]T UIT)?
(A) Dr. K. Sivan (LT&LI] G&. &euedr)

(B) Dr. Mylswamy Annadurai (LIT&L_[J 60LD6L&EUMLD SI6TII6UIIT &I601))
(C) Dr. Vikram Sarabhai (LLIT&L[] e&IJLD &FIJMLITLL)

(D) Rakesh Sharma (JGLD6Y &IJLOI)

Correct Answer:
[B] Dr. Mylswamy Annadurai / LT&L[J 60LD6VL&EUMLO SI6TO16UDIIT &)60)(]

Reason / &IT[J680ILD:

Dr. Mylswamy Annadurai is called the “Moon Man of India” for his key role in Chandrayaan-1
and Chandrayaan-2 lunar missions.

EhHETUITeT-1 LDOMILD FHSHTIWITEE-2 HIL_L MiGafled (LPSHEI LRIG



UHGHHHTEL, LMELI] MLDELEEUMLD SI6TUemIT&HIen] “@bHwimeilen &balyest
D6V 6T60TM) SMLPSHSLILIRH DI

Q.179) The difference between the compound interest and simple interest on 310,000 at 10%
perannum for2yearsis___.

310,0005@& S6001(H 10% QUL IqUN6L 2 Y (h&Eh&HSHT6N Fal (B 6ULLg
LOMID eTafll el lg NGSHITFLD 6T6lAIATE?

(A) X100

(B) X250

(C) 3200

(D)%150

Correct Answer:
[A]X100/%100

Reason / &IT[J600ILD:

= Simple Interest (S):
S = P\I{;;:ﬂ' _ 1-Z]||l'allll:;”1||~1 — FI000

=  Compound Interest (CI):
CI = I’{l + %]I — P = mnﬂﬂ{l.l‘F — 10000 = 10000{1.21 — 1) =
22100

#+ Difference = Cl1- Sl = 2100 - 2000 = 100

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural Development

(B) National Bureau for Agricultural Research and Development
(C) National Authority for Banking and Rural Development

(D) National Board for Agricultural and Resource Development

Correct Answer:
[A] National Bank for Agriculture and Rural Development

Reason / &ITIJ600ILD:

NABARD is India’s apex bank for agriculture and rural development financing, established in
1982.

NABARD 6T60TLI&I 198260 HMIeUUILL L, efleugmul mmIitb Hmollm
Cuur_ (G HH alphGD @hHWTalsr 2 & Uhid S ELD.
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